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BEWARE OF NEGATIVE MARKING

TOPIC : FULL SYLLABUS
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(1) 35N

2) 45N
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Figure shows a man of mass 55 kg standing
stationary with respect to a horizontal conveyor
belt that is accelerating with 1 ms2 The net force
acting on the man is :
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1) 35N
2) 45N
3) 55N
4) 65N

Consider the quantities, pressure, power, energy,
impulse, gravitational potential, electrical
charge, temperature, area. Out of these, the only
vector quantities are

~

(
(
(
(

(1) impulse, pressure and area

(2) impulse and area

(3) areaand gravitational potential

(4) impulse and pressure

The potential energy function for a particle

executing linear simple harmonic motion is

1
given by U(x)=5kx2, where k is the force

constant of the osicllator. For k = 0.5 Nm", the
graph U (x) versus x is shown in the figure given
below.

X —>

Find out position of a particle carrying total
energy 1 J moving under this potential at which
it must turn back to its orignal position.

(1) +0.5m
2) +£1m
@) +2m

(

4) +3m
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The density of a non-uniform rod of lenght 1m is
given by p(x) = a(1 + bx?), where a and b are

constants and 0<x<1. The centre of mass of the
rod will be at.

3
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Consider p-V diagram for an ideal gas shown in
figure.

PA 1
- constant

Out of the following diagrams, which figure
represents the T-P diagram ?

(iif) (iv)

1) (v)
2) (i)
3) (i)
4) (i)
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10.

Sound waves of wavelenght A travelling in a
medium with a speed of v ms~ enter into another
medium where its speed in 2v ms-'. Wavelength
of sound waves in the second medium is.

4 42

An infinite line charge produces a field of
9 x 10* N/C at a distance of 2cm. Calculate the
linear charge density.

(1) 10C/m
2) 10%C/m
(3) 107 C/m
(4) 10°C/m

A circular coil of wire consisting of 100 turns, each
of radius 8.0 cm carries a current of 0.40 A. What
is the magnitude of the magnetif field B at the
centre of the coil ?

(1) 4T
2 3.1x104T
@) 2x10°T
@) 104T

A beam of light converges at a point P. Now a
lens is placed in the path of the convergent beam
12 cm from P. At what point does the beam
converge if the lens is a convex lens of focal
lenght 20 cm :

(1) 7.5cm from lens
(2) 8.5cm fromlens
(3) 9.5cm from lens
(4) 6.5cm from lens

A parallel beam of light of wavelenght 500 nm
falls on a narrow slit and the resulting diffraction
pattern is observed on a screen 1 m away. It is
observed that the first minimun is at a distance
of 2.5 mm from the centre of the screen. Find the

width of the slit.
(1) 2mm (2) 1mm

3) 0.2mm 4) 0.1mm
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A particle is dropped from a height H. The de-
Broglie wavelenght associated with particle is
proportional to

(1 H
(2) H1/2
3)
(4) H-1/2

Taking Bohr radius, a_, = 53 pm, the radius of Li*
ion in its ground state on the basis of Bohr model
will be

1) 53 pm
2

~

27 pm
3) 18pm

(
(
(
(4) 13pm

When a forward bias is applied to a p-n juction.
It :

(1) raises the potential barrier

(2) reduces the majority carrier current to zero

(3) lowers teh potential barrier

(4) None of the above

Speed of a longitudinal wave in a solid bar is
given by( all the symbols have their usual
meaning)

M=\,

[P
2) P
_ /7_1’
3)V P
[P
4) P

The extension in an elastic wire duo to self
weight is (all the symbols have their usual
meaning) :

MgL MgL
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light of frequency1.5 times the threshold
frequency is incident on a photosensitive
material. what will be photo electric current if
fre quency is halved and intensity is doubled :

(1) 4 times

(2) 1/4 times
(3) zero

(4) 2times

Which one of the following is not correct for
circular motion of a particle :

(@) V=Fx®

2
\4
(b) net acceleration is — towards the center
r

(1) only a
(2) only b
(3) noneofaandb
(4) both of aand b.

Degree of freedom for an ideal gas is n and ratio
of molar specific heat at constant pressure and
constant volumeis y then

(1) n=" @) (y-1n=2

(3) n+2=y 4) (y -D+n=2

Point charge q moves in a circle of radius r at
constant speed v. What will be the current
associated with this uniform circular motion.

(1) qvinr

(2) 2qvinr
(3)qv/2nr
(4)4qv/nr.

Two capacitors C, and C, are charged to 120 V

and 200 V respectively. It is found that connecting

them together the potential on each one can be

made zero. Then :

1) 3¢, =3c,

2) 3c, =5¢,

3) 3c, +5¢,=0
)

(
(
(
(4) 9c, =4c,
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(1) 154

(2) 50J

(3) 10J
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(1) 2.85 x 103K

(2) 2.52 x 102 K

(3)4.03 x 103K

(4) 4.03 x 10 K

TE e & T uede dR 8 RNEel awgar
THE 2| Aeid A SN dR ® fraer @ D ®
TG Ord B Ud @WiEel Aol & Raer areg
T 2D U9 IT<IRe &g DE| AUG B
yfoRiel &1 U &

(1) 3:1

@ 1:2

@) 1:4

@) 1:1

Ife foedt Freel 9 T9E BaAd 0.1 (t2 — 6t) T-m?
@ oJUR uRaffa smar & @ URT faga a=s
9 THT B A6 A F AT B8N

21,

22,

23.

24,

A body of mass 0.5 kg travels in a straight line
with velocity v = kx¥2 where k = 5 m"2 s~'. The
work done by the net force during its displacement
fromx=0tox=2mis:

(1) 154
(2) 50J
(3) 10J
(4) 100J

At what temperature is the root mean square
speed of an atom in an argon gas cylinder
equal to the rms speed of a helium gas atom at
20°C:(Atomic mass of Ar =39 uand He =4 u)

(1) 2.85 x 10° K
2) 2.52 x 12K
(3) 4.03 x 10° K
(4) 4.03 x 12K

Two conductors are made of the same material
and have the same length conductor A is a solid
wire of diameter D conductor B is a hollow tube
of outer diameter 2D and inner diameter D. The
ratio of resistances of Aand B :

The flux through a loop varies with time according
to the relation 0.1 (t2— 6t) T-m?where t is in seconds.
The induced emf in the loop varies with time
according to the graph :
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\t
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The amount of work done in increasing the voltage
across the plates of a capacitor from 5V to 10V is
W. The work done in increasing it from 10V to 15V
will be :

(1) 0.6 W
2 W

3) 1.25W
4) 167W

A charged particle is moving in a uniform magnetic
field in a circular path. Radius of circular path is
R. When energy of particle is doubled, then new
radius will be :

(1) 3R
2) 2R

The magnetic field at centre, P will be :

5A P° 2.5A
—
5m

Ho
(1) 4n

Mo
) .

Ho
3) 27
4) 4u,m

In a thermodyamic process of a fixed mass of a
gas is changed in such a manner that the gas
releases 20 joules of heat and 8 joules of work
was done on the gas. If the initial internal energy
of the gas was 30 joules, then the final internal
energy will be :

1) 2J
2) 42J
3) 18J

(4) 58J
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(1) 16.25m

(2) 162.5m

(3) 1.625m
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(1) ORgate
(2) AND gate
(3) NOT gate
(4) NAND gate
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(2) 5ms=
(3) 1ms=
(4) 10ms=2

2 ms

29.

30.

31.

32,

As shown in the figure, a magnet is moved with a
fast speed towards a coil at rest. Due to this induced
electromotive force, induced current and induced
charge in the coil is E, | and Q respectively. If the
speed of the magnet is doubled, the incorrect
statement is :

> TV
[s ] o
\—4

(1) Eincreases

(2) lincreases

(3) Qremains same
(4) Qincreases.

A truck of mass 1400 kg is moving with a velocity
of 15 m/s. A resistive force of 250N and an
accelerating force 600 N act on it. The distance
travelled by the truck in 10 seconds will be :

(1) 16.25m

(2) 162.5m

(3) 1.625m

(4) zero.

The following logic symbol is for :

A=y
(0]

1) ORgate

2) AND gate
3

4

(1)
2
(3) NOT gate
4)

NAND gate

On a two-lane raod, car A is travelling with a
speed of 36 kmh~'. Two cars B and C approach
car A in opposite directions with a speed of
54 kmh-' each At a certain instant, when the
distance AB is equal to AC, both being 1 km, B
decides to overtake A before C does. What
minimum acceleration of car B is required to
avoid an accident ?




33.

34,

35.

36.

frfafaa womt w far &R |

FAT | : WA NI H FoAdT g TH BT AR
AHvs # 10 Hiex g 2|

FAT || : 99 DIy MG 4T B, AT B Sl
gaa Bl 8 R dom sof @8d €

HUF ||| : yAEd! e s=IBrR & |
S HRAT B, Afpd Ivrad! fawa &l

SWRIFT U & IR R K F 98 fqbed
T |
(1) SRRT BT TeId 2 |

2) YH HUF I BN AfT Hur foRm | fAa
TR 4 m/s2 | T |

3) P ||| WEl & WG HAT || TAd 2 |

@) et G sraven d o | §99 T8l 2|

U $ed aiell WA ® g99®T o I ga
# digar e 8, i -

(1) AT, 9T a7 B gl | Afd ARFEIS
g

2) W ¥ ifaRed o urd Bt @

3) WieHT, O Bre aTell H2lF BT ol §HIAT &
(4) WHEET U8 @ ON0 BT HH Bl o

s fives faiq # e@d To@ @ oef\ qa
w0 W R @ & @ s IREF A &
<k faa <@

(1) TSt ot

2) Refos st

() @ AD St

(4) Bt X HT

#off RLC Uamadt afkuer # ergare & fog
# ¥ BN T e B fe dee oS

(
(

(1)

33.

34,

35.

36.

Consider the following satements :

Statement | : A particle moving along straight
line travels 10 m in third seconds.

Statement Il : When a nucleus is formed some
energy is released that is known as binding
energy.

Statement Ill : Alternating voltage works with
transformer but DC voltage does not:

In the light of above statements choose one
correct option from below:

(1) Statement il is wrong

(2) Statementlis correct if particle starts from rest
with constant acceleration 4 m/s?

(3) Statementlllis correctbut Statement Il is incorrect
(4) Statement | is not possible in any case

It is earier to pull a lawn mower than to push it
because

(1) pulling is more comfortable than pushing
(2) one gets extra energy in pulling
(3) pulling makes the lawn mower lights

(4) pulling reduces friction of the surface

Abody is falling freely under the action of gravity
alone in vacuum. Which of the following
quantities remain constant during the fall ?

(1) Kinetic energy
(2) Potential energy
(3) Total mechanical energy

(4) Total linear momentum

Which one of the following is not the expression
for quality factor for resonance in series RLC ac
circuit :

oL

(M =

1
@ oRC

&
<|<

S
<|<




37.

38.

39.

TR MMt A BRA dled b pUT @) RerfaeT
ol w1 B8Rl o9 98 Ay ud diftw Rt &
7o fig W B

(1) ZE
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4) SE
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A 1kQ B
+4V -6V
(1) 0A
2) 102A
(3) 107'A
4) 10°A.
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1) 10 Q
2) 15 Q
(3) 20 Q

4) 25 Q

37. The potential energy of a simple harmonic

38.

39.

oscillator when the particle is half way to its end
pointis :

2
(1) 3E

1
@ 4E

1
@ HE

(where E is the total energy)

Consider the junction diode as ideal. The value
of current flowing through AB is

A 1kQ B
+4V -6V
(1) 0A
2) 102A
(3) 107'A
(4) 103A.

The resisitances in the two arms of the meter

bridge are 5Q and R(2, respectively. When the
resistance R is shunted with an equal resistance
the new balance pointis at 1.6 |, . The resistance
‘R’,is:

J——)
50 RO
A B
L 100-1

(1) 10 Q
2 15 Q
(3) 20 Q

4) 25 Q
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X electron Y
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(3) abcd

(4) adcb.
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(1) =3
2) 60°
(3) 30°
(4) 450,

40.
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In the circuit shown in the figure, if the potential
at point A is taken to be zero, the potential at point
Bis:

2V
R1 1A D 2A |
"""""" 1; 1; || I B
1Ay 1Ay
RE $20 $2A
A I |I ;;A C ;A A'A'A'A'A'l'
(\"
(1) +1v
2 -1V
(3) +2Vv
4) -2v

An electron moves on a straight line path XY as
shown. The abcd is a coil adjacent to the path of
electron. What will be the direction of current, if
any, induced in the coil :

X electron Y

(1) The currentwill reverse its direction as the electrons
goes past the coil

(2) Nocurrentinduced
(3) abcd
(4) adcb.

The refractive index of the material of a prism is

V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection from
the silvered surface) if angle of incidence on the
prismis :

(1) zero
(2) 60°
(3) 30°
(4) 45°.
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m [2mgh
) MVYM+m

4 m /2Mgh
@) MM+ m

LCR uRuyr # 3 Ry il &1 gafera o |

w9 | w4q ||

i. gfrema A. wL—é

ii. gferaren B. ﬁ

iii. wIfdT I[oTi C. \/R2+[mL—m—J2
R

iv. &Il T[OTIh

(1) i-C, ii-A, iii-D, iv-B
(2) i-B, ii-A, iii-D, iv-D
3) i-C, ii-D, iii-A, iv-B
(4) i-C,ii-A, iii-B, iv-D

43. The ratio of kinetic energy to the total energy of

45,

an electron in a Bohr orbit of the hydrogen atom,

A mass m is placed at a height on the wedge of
mass M shown in the figure. The ground is smooth.
When the mass m reaches the ground, velocity of
the wedge is (assume all smooth surfaces) :

m

m2gn

M
o M [2mgh
@ m\VM+m
2mgh
B o
MAM+m
4 m [2Mgh
) MVYM+m
Match the columns a series LCR circuit:
Column|l Column Il
i. | d A (,)L_L
i. Impedance . oC
ii. React B 1
ii. Reactance * oCR
2
iii. Power factor C. \/Rz +[0)L—0)—j

iv. Q-factor

(1) i-C, ii-A, iii-D, iv-B
(2) i-B, ii-A, iii-D, iv-D
(3) i-C, ii-D, iii-A, iv-B
(4) i-C.ii-A. ii-B. iv-D




TOPIC : FULL SYLLABUS

46.

47.

48.

49.

50.

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, S=32, C|=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197, Pb=207

Th Afe § C-40% R H-6.66% dHINE T,
Afe 1 JAUN I R/ 7

(1) CH,0

(2) C,HO,

(3) CHO

(4) CH,0,

frafafaa # 9 Swacd fomis &9 < ®

(3) NH,

(4) CN-

0.02s" <X ReRi® arell Wo Sife fifhar &
Iy AT BT

(1) 69.3s

(2) 34.655

(3) 100s

(4) 50's

ffae—sesd se@igd |, iR NaOH & W
JfAfhaT B R &I WU W <ar ¥

(1) CH,l,3RCH,COONa

(2) CHI, 3R CH,CH,COONa

(3) CH,I3IRCH,CH,CH,CH,~OH

(4) Cl, 3R CH,CH,COONa

q ¥ Wi @ smafve e &1 w@d
%9 B

(1) Nd* > Tb* >Tm?*

(2) Tm3 >Tb* > Nd*

(3) Tb* >Nd* >Tm

(4) Tb> >Tm* > Nd*

46.

47.

48,

49,

50.

In a compound, C-40% and H-6.66% are present,

what is the empirical formula of the compound :
(1) CH,0

(2) C,HO,

(3) CHO

(4) CHO,

Ambidentate ligand among the following is :

(1) HO

(2) en

(3) NH,

(4) CN-

Half-life of a first order reaction with rate constant
of 0.02s~' will be nearly :

(1) 69.3s

(2) 34.65s

(3) 100s

(4) 50's

Sec-butyl alcohol on reaction with I, and NaOH
majorly gives :

(1) CH,l,and CH,COONa

(2) CHI,and CH,CH,COONa

(3) CH,Jland CH,CH,CH,CH,-OH

(4) Cl,and CH,CH,COONa

Correct order of ionic radii of the given species is
(1) Nd* >Tb®* >Tm?*

(2) Tm3 >Th* > Nd*

(3) Tb* >Nd*>Tm?

(4) Tb* >Tm? > Nd*




51.

52.

53.

54.

-1 ¥ ey 1y 9ffel & gA-1 § S
faftre aifdforaret & gafaa &% ok @@l
ST A |

GG OITED) A1 (arfafspan)
P
a. CH3—(|:—CH3 i. faaeR AR & e
on ¥ e T < R
OH
b @ ii. go g AfEIe ®
GIDEG A K G|
SO BT ®
C CH,CH,CHO iii. S ST @ ETR
AHE AT §9AT B
d C,H,CH,0H iv. 3EIFRATHA AgNO,
facaa @ @i
AfAfpar H W Iod
gior g9 AT R |
(1) a(ii), bii), c(i), d(iv)
@) a(iv), b(i), c(ii), d(iii)
(3) aliii), bii), c(iv), d(i)
@) a(ii), biii), c(iv), d(i)

& $ afifar # ugw SoRe @

Catalyst

CO+2Hy — 28—, CH;0H
573-673 K

(1) Pd

(2) Mo,0,

(3) CuCl,

(4) ZnO-Cr0,

I O & |ey H frafafea 4 | a9 @
GEIRE

1) CH,COOH > C,H,OH > EtOH
2) C,H,0H>CH,COOH > EtOH
3) EtOH > CH,COOH > C,H,OH
4) EtOH > C H,0H >CH,COOH
f=fafed & 9 g s s &
(1) ergfRr
@)
)
)

(
(
(
(

2
3

ofeTfie TRis
SIRSIGERIR]
(4) vt

51.

52,

53.

54,

Match the compounds given in list-l with their
characteristic reactions in list-ll and choose the
correct answer.

List- (Compounds) List-l1l (Reactions)

CH3
I
a. CH3—C—CH3 i.

|
OH

OH

Gives red colouration

in victor Meyer's test

ii. Produces immediate

turbidity with Luca's
reagent
C CH,CH,CHO iii. Forms white
precipitate with

bromine water
Forms silver mirror on
reaction with
ammoniacal AgNO,
solution.

d C,H,CH,OH iv.

1) a(ii), bii), c(i), d(iv)
2) a(iv), b(i), (i), d(iii)
3) a(iii), b(ii), c(iv), d(i)
4) a(ii), bliii), c(iv), d(i)

Catalyst used in the given reaction is

A~ N S~

CO+ 2H, zogj‘;""o'(yf;tm CH30H
573-673K
(1) Pd
(2) Mo,0,
(3) CuCl,
(4) ZnOCr,0,

Which of the following is correct w.r.t. acidic
character :

(1) CH,COOH > C.H,OH > EtOH

(2) C,H,OH>CH,COOH > EtOH

(3) EtOH>CH,COOH > C H,OH

(4) EtOH>C.H,OH>CH,COOH

Basic amino acid among the following is :
(1) Lysine
2

3
(

4

Isoleucine

)

) Glutamicacid
)

) Alanine




55.

56.

57.

58.

59.

DNA #, C, oo, gIgsio 98 NI
IR § JsaT ? |

=T 2?
(log 13 =1.119)

Ag (s) |Ag* (0.0001M) || Mg? (0.13M)| Mg(s);
Ec_, =317V

(1) 3.38V

(2) 297V

(3) 317V

(4) 275V

fer v Bl @& wwHIE BT GE HA |

" @cu @CI @ 2 @C, @m
3) (olj @>ém(4> éé(%{&“

fafafaa 3 & o9 w1 A9fte s 2 afafehar
@ ufd gea e fifharsfiear 21

(1) CH,—CI

C
@ \/‘l/

B) A~

Cl
oA

I fHdl selae= &1 gogaN 9.11%x10°%" fHuT
2, 3R Rfy 9§ s R=adar 108 m, Hiex 8, A
a1 # eff¥e=aar g

(1) 5.8x10°*ms™
(2) 5.8x10°ms™
(3) 5.8x10¥ms™
(4) 5.8x108 ms™

55.

56.

57.

58.

59.

In DNA, C joins with .............. base by ...........
hydrogen bonds.

(1) A, 2
2) G 3
3) T2
4) U,3

What is the E_ of the following adjustment ?
(log13=1.119)

Ag (s) |Ag* (0.0001M) || Mg? (0.13M)| Mg(s);
Ec_, =317V

(1) 3.38V

(2) 297V

(3) 317V

(4) 275V

Correct order of boiling points for the given
compounds is

ek @C@
@) éf&@ @C. @ é;(%{&q

Which of the following compounds is most
reactive towards S 2 reaction.

@g, éc.

(1) CH,—CI

@ \/(‘1/

@) A~

Cl
PN

If the mass of an electron is 9.11%x10-%*' kg, and
uncertainty in position is 10 m, the uncertainty
in velocity would be:

(1) 5.8x103 ms™
(2) 5.8x10°ms™
(3) 5.8x10¥ms™
(4) 5.8x10®ms™




60.

61.

62.

63.

ITHAD [CoCl, I* S Y CFSE 18,000 (AR

& cm' & GaY H) & WU B | AgHADI
[CoCl, - & fog CFSE &N

(1) 18000 cm™
(2) 16000 cm™
(3) 8000 cm™"
(4) 20000 cm™
f=faRad & @ &9 91 o4 9@ /% -

(a) ArerRar Uy <fier o1t § g fog & Al
P Hd= 2
(b) HieRAT TVEN ¥ wWdd gigdl ¥ B |

(c) Tt =T &1 Hiclerar @7 1000 U™ & H
gd o @ Al o §@m & w9 #
gRua fear wimar 2 |

(4) oo iR fes & Al ofFll &1 U
SIe Heftrg Al & rgurd # BT B

foeft W H o) yofa @ fog, wseh, TEd
R T wemsll @ el &1 U ®

1

1
(1) 1:4:9 25

@) 1

3)1:2:3 @1:1:1
i Q) suq fey Wy T

BAT—I: FARIA DI KUHD SAdSlT Afel T
FARE I AP 2|

HIYT—Il: FARIT B T AT FoART A B
=

SIRIh Bl B el #, 9 Ry W fAdet
H A e SUYH SR g |

1) B | 3R B Il ST FET &

—~ o~

B | 3R B 1l S TAd &
U | eI & Afhd B 1l Told &

B | TeTd 2 oifbd B Il 98 2|

2

-

3

4

)
)
)
)

-~

60.

61.

62.

63.

The CFSE for octahedral [CoCl . ]* is corresponding
to 18,000 (w.r.t wave number cm™). The CFSE for
tetrahedral [CoCl, > will be:

(1) 18000 cm™

(2) 16000 cm™

(3) 8000 cm™

(4) 20000 cm™

Which of the following statements (s) is/are true :

a. Molarity is the number of moles of solute
dissolved per litre of solution.

b. Molarity is temperature
concentration term.

independent

c. Molality of a solution is defined as the number
of moles of solute dissolved in 1000 g of
solution

d. The ratio of mole fractions of solute and
solvent is in the ratio of their respective moles.

(1) aand conly
(2) aandd only
(3) band conly
(4) aonly

For any H like species, the ratio of radii of 1st, 2™
and 3" orbits is

(1) 1:4:9

3)1:2:3 4)1:1:1
Given below are two statements.

Statement-l: Negative electron gain enthalpy of
fluorine is greater than chlorine.

Statement-ll: lonisation enthalpy of fluorine is less
than chlorine.

In the light of above statements, choose the most
appropriate answer from the options given below.

(1) Both statement | and statement Il are correct
(2) Both statement | and statement Il are incorrect
(3) Statement |is correct but statement Il is incorrect

(4) Statement lis incorrect but statement Il is correct.




64.

65.

66.

67.

68.

e ® 1Y, C(s)+CO,(g) = 2CO(g)
k =60 atm 1000K | If Hge WX
P., = 10P_, &, d ¥§ge" W §d 399 o
(1) 6.1atm
(2) 6.6 atm
(3) 0.6 atm
(4) 66.6 atm
fwer (A): Pbl, Ta Rer e 2|

HRU (R): MATSISS S STRITHROT axeqT Pl
ReR Pxar 2|

(1) %\)@?(R)ﬁ?ﬁﬂ'é‘r%@:ﬁ?(R), (A) B T8 IR

(2) (A) 3R (R) a1 W&l € oifdb (R), (A) &1 &l
IR 8T B

@) (A) W2 € offd (R) W& 7181 &

@) (A) 3R (R) I |2 &1 £ |
W?(A):H@W%aﬁmﬁwwwmﬁﬁ
BHRAT

BRU (R): IS UCleellss el gIdl
(1) %\)@?(R)ﬁ?ﬁﬂ'é‘r%@:ﬁ?(R), (A) Y TE =T

@) (A) 3R (R) aFl WET & oifdb (R), (A) BT &
IR 8T B

@) (A) FE! & ofds (R) el 7181 &

@) (A) 3R (R) aI &I =81 2 |

HNO5 /0°C HBF4 A

A B C;Cis:

PhNH,

(1) PhN' =N(BF4)~

@ (OO)-*
® ~OHO)

(4) PhF

fr=fefRad 0.1 A e e § 9 faer
feaied ey gI?

64.

65.

66.

67.

68.

For the equillibrium, C(s)+CO,(g) = 2CO(g)

k, =60 atm at 1000K. If at equillibrium P, =10P
then the total pressure at equillibrium is

co2’

(1) 6.1 atm

(2) 6.6 atm

(3) 0.6 atm

(4) 66.6 atm

Assertion(A): Pbl, is a stable compound.
Reason(R): lodide stabilises higher oxidation state.

(1) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) Both the (A) and (R) are not correct.
Assertion(A) : Nitrogen exhibits +5 oxidation state
Reason(R) : Nitrogen does not form pentahalide

(1) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(3) (A)is correct but (R) is not correct

(4) Both the (A) and (R) are not correct.

HNO, /0°C A__HBF4 A

B C;Cis:

PhNH,

(1) PhNT =N(BF,)~

(3) FF

(4) PhF

Out of the following 0.1 molal aqueous solutions
which will have maximum freezing point?

(1) Glucose
(2) Potassium chloride
(3) Sodium sulphate

(4) Aluminum sulphate




69.

70.

71.

72.

73

20 9™ 9fd dm® gRIT I s fgag,

R—areefia faelm 'B' & 10% (W/V) faeas &

gT‘\’I argaR® 2| fIog 'B' &1 AleR sod N
I

(1) 100 g/mol
(2) 200 g/mol
(3) 300 g/mol
(4) 600 g/mols

If& Af, NaCl, HCI 3R CH,COONa T #19 ST

X,y 3R zScm?mol* & @ Af,, CH,COOH &1
A9 BRI |

@ Br, & I AMWGHAT § NOBr &9 &
frfafaa frafafr yeafag @ 7 2

NO(g) + Br,(g) - NOBr,(g)
NOBr,(g) + NO(g) - 2NOBr(g)

I gERT =R1 &R fefRer =1 @, & NO(g) &
g # affear &1 ww @

1) 0

2) 1

3) 2

(4) 3

foell e siffhar @ |fhgor ot &1
fufer A= yoR | fear 97 Gear &

(1) w9 ATIHE R SR ReRie &7 IR o |
(2) T IIHET TR TR ReRid BT FHERT R |
(3) THRIT B HHTEGAT BT IR B |

(4) SBR® BT SUINT HRSD |

amuifas wefra figia &1 STAT &=d g4,
qfasarh #) & f=falRea & 9 g gonfa
P 99 98 GIY BT 87

E

—~ o~ o~

69.

70.

7

72

73

A solution containing 20 g per dm? urea is isotonic
with a 10% (W/V) solution of a non-volatile solute
'B'. The molar mass of the solute 'B' is.

(1) 100 g/mol
(2) 200 g/mol
(3) 300 g/mol
(4) 600 g/mols

If Ay, of NaCl, HCl and CH,COONa are x, y and z

S cm? mol* respectively then A of CH,COOH will
be.

1
2

3

(1) z+y+x
@) x-z-y
B) z+y-x
4) z-y-x

The following mechanism has been proposed for
the reaction of NO with Br, to form NOBr

NO(g) + Br,(g) - NOBr,(g)
NOBr,(g) + NO(g) — 2NOBr(g)

If the second step is the rate determining step,
the order of reaction w.r.t NO(g) is:

Activation energy of a chemical reaction can be
determined by:

(1) determining the rate constant at standard
temperature.

(2) determining the rate constants at two
temperatures.

(3) determining probability of collisions.
(4) using catalyst.

Using molecular orbital theory, predict which of
the following species has the shortest bond
length?




74.

75.

76.

77.

78.

79.

fr=fafea & 9 &g o) &1 fgga syl
aftrpaq 87

frfaRed & 9 9 91 dfe gea sfifshar
ERT 99 ®©Y 9 ¥R fhar o1 gadr 87

(1) n—te+

(2) afgATUCH

(3) smgRiregeT

(4) n—sges

A-AB-B 3R A-B® oy §9 &Il A
ab 3R cki & %A2+%82+A8m @

fag AH B
(1) a+tb-c

ffafea sfdfdsar # cr, (S0,), [mol, wt = M]
BT TIgd WR B
Cr,(SO,),+ H,0, + NaH — Na,CrO, + Na,SO,+ H,0

frafafRag & 9 @9 91 sodciase AloR
AADGAT A, 3R Figar & T & 99 @
Nad deyg <Mm?
(1) CH,COOH

(3) HCOOH

(2) KClI
(4) NH,OH

74,

75.

76.

77.

78.

79.

Which of the following molecules has the
maximum dipole moment ?

(1) N
(2) N
(3) C
4 C

Which of the following compounds can be best
prepared by Wurtz reaction?

(1)
(2) Isopentane
3)
(4) n-butane

The bond energies for A— A, B—Band A- B are
a, b and c kj respectively. The A H for the reaction

n-pentane

Isobutane

T ay+1B, - AB will be :
2y

(1) a+tb-c

Which among the following elements is unable
to form a compound in +3 oxidatition state?

@) Al
@ T
(3) Ga
) In

The equivalent weight of Cr, (SO,), [mol, wt = M]

in the following reaction is

Cr,(S0,), + H,0,+ NaH — Na,CrO, + Na,SO,+ H,0
(1) M/3
(2 M/4
3) M

4) M/6

Which of the following electrolytes will give a
linear relationship between molar conductivity

Ay and square root of concentration?
(1) CH,COOH
(3) HCOCH

(2) KCI
(4) NH,OH




80.

81.

82.

83.

ﬁgﬁ—laﬁﬂjﬁ—ll@ﬁﬁﬁfﬁaﬁaﬁ?’ﬂﬁﬁm
T |

qA—1(IH )
() [Co(NH,)JICr(CN)] i.

gAI—Il (FHTeIEdn)
UHTRIE FHTaIed

ii. FHGT FHATII]

(b) [Fe(H,0), ClIBr

iii. ST FATII AN

iv. ST FHagdd

(c) [PtCI,(NH,),]
(d) K,[Co (OX),]
(1) a(ii), biii), c(i), d(iv)
2) a(ii), biii), c(iv), d(i)
(3) a(iii), b(ii), c(i), d(iv)
(@) a(iii), b(ii), c(iv), d(i)

FHA—I: 3w ST Affehar & forg it
@ TR 9 H gfg @ a1 9¢ ol 2

HIF—II: SR IAfhar & forv srfafohar @) a%
agHe # gfg @ | e S 2

SRRE BUHl B wHre A 0 Ry Ty e
H A e SUYH SR g |

(1) @9 | |81 g Wfdhd B 1l Tad 2
(2) A | TA B AfhT HAH || T ®
) B | 3R FHU | A Terd 8
(4) T | SR Fo 1| T W
frafafea affear ogey w® faar &

Br Mg - (i) COZ -
A/ oy other” A B

(i) HO'

(i) Br/Red P
(i) H,0

C (Major) «<—

SdE C §
COOH
M A, 0
Br
3) /*\COOH

0O

I= 2 3R n = 3 9/l SUBIT H SAAGSHl Bl
Sfrpay w1 ©
(1) 2 (2) 6

(3) 10 (4) 14

80.

81.

82,

83.

Match list-l with list-l and choose the correct

option.
List-(Compound) List-ll (isomerism)

(@) [Co(NH,)]ICr(CN)] i. Opticalisomerism

(b) [Fe(H,0), CllBr ii. Coordination isomerism

(c) [PtCI,(NH,),] iii. lonisation isomerism

(d) K,[Co (OX),] iv.

(1) a(ii), b(ii), c(i), d(iv)

@) a(ii), biii), c(iv), d(i)

3) a(iii), bii), c(i), d(iv)

(4) a(iii), b(ii), c(iv), d(i)

Geometrical isomerism

Statement -I: Rate of reaction for end endothermic
reaction increases with increases in temperature.

Statement-ll: Rate of reaction for exothermic reaction
decreases with increase in temperature.

In the light of above statements, choose the most
appropriate answer from the options given below.

(1) Statement lis correct but statement Il is incorrect
(2) Statement lis incorrect but statement Il is correct
(3) Both statement | and statement Il are incorrect
(4) Both statement | and statement Il are correct

Consider the following reaction sequence

Br Mg - (i) COZ -
A/ oy other” A B

(i) HO'

(i) Br/Red P
(i) H,0

C (Major) «<—

COOH
A

0
(3) /IL?COOH 4) /kyB)\
]

Maximum number of electrons in a subshell
havingl=2and n=3 is

ProductC is

M A,

(1) 2 ) 6

(3) 10 (@) 14




84.

85.

86.

frefofad & 4 we9 year o @
(1) HCOOH

(2) C,H,COOH

(3) CH,COOH

(4) CH,CH,COOH

?ﬂ\?—laﬁﬁjﬁ—ll'ﬁgﬁﬁﬁﬁaﬂ'\’ﬂﬁw
T |

-1 Gcia|
(& o HA W)
a. -NO, (i) —R effect and - effect
b. -O (i) +R effect and —| effect
c. -O-CH, (iii)+R effect and +l effect
d. —CH, (iv) +l effect and no
resonance
(1) a(i), b(ii), c(ii), d(iv)
() a(i), b(ii), c(iii), d(iv)
3) a(iv), byiii), c(ii), d(i)
@) a(i), b(iv), c(iii), d(i)
Cry03/Alb03

CH3z —(CHy)4 —CH3

773K/10-20 atm

Brp /FeBry B Mg
Ether

+
HQO/H |

0@
OH
0 @

Br

3) @/OH
COOH
e,

84.

85.

86.

Strongest acid among the following is
(1) HCOOH

(2) C,H,COOH

(3) CH,COOH

(4) CH,CH,COOH

Match list-l with list-ll and choose the correct
answer.

List -l List-ll
(Group attached in (Effect shown by

benzene) the group)
a. -NO, (i) —R effect and - effect
b. -O (ii) +R effect and I effect
c. -O-CH, (iii)+R effect and +| effect
d. —CH, (iv) +l effect and no

resonance
(1) a(i), b(iii), c(ii), d(iv)
(2) a(i), b(ii), c(iii), d(iv)
(3) a(iv), bfiii), c(ii), d(i)
4) a(i), b(iv), c(iii), d(ii)
Crp0O3/Alp03

CH3 —(CHy )4 —CH3

773K/10-20 atm

Brp /FeBrp B Mg

Ether
e
OH
0 @

Br

. @/OH
COOH
@

+
HO/H"




87.

88.

89.

90.

TP defe Afre (X) TONse TIBssIssS
® G AMCHAT T R N-BfAd TAHISS
ear B e (X) @ IR H I BUT ¥

. FAIIHIH Fiv veldifas uidf¥rgw
gIssiaass @ 91l IfAfpar sx9 ) X
ATAATSAISS 9917 ©

Il. 9 dIYHTT U ATs<d UfHs @ 9r1er
AAFHAT BT W X IOl SHSNIT 9o
CRIGIES

m. X s | e Ay @
(1) @ae | 3R I

@) Dae | AR I

(3) ®aat Il 3R 1

(@) =Y 1,0 eiR

72u IATUIfAP GHAN el BISSIBET &I B
|1 IR sEdr 9AEgd] dad Ud  ArAr
aftreenfia Yeslse t@lsS <l ®©

ffaRaa sifafear &1 v@ Sae 2

Br. < > cl Na/dry ether
O
3) <><> @) O

fr=fafReag & 9 o9 a1 TP ufhar & fou
g T8 ®

(1) W=0
(2) AU=0
(3) AH=0
(4) AS=0

87.

88.

89.

90.

An organic compound (X) on reaction with
ethanoic anhydride gives N-phenyl ethanamide.
Correct statements about the compound (X) are

I. X on reaction with chloroform and ethanolic
potassium hydroxide forms isocyanide

Il. X on reaction with nitrous acid at low
temperature forms benzene diazonium salt

lll. X is more basic than pyridine
(1) land il only
(2) land Il only
(3) Iland Il only

(4) Alll, Iland I

Which branched chain isomer of hydrocarbon
with molecular mass 72 u gives only one mono
substituted alkyl halide

(1) Isopentane
(2) Neopentane
(3) hexane

(4) Neohexene

The major product of the following reaction is

Br. < > cl Na/dry ether
(
(

4)

(1) <> 2) @
@) <><> @
Which among the following is not true for a cyclic
process:




TOPIC : FULLSYLLABUS

1.

92

93.

94

1 few U o BN ¥
DY -1

M JAMAHAT & SR UwolTsH 703l H Hre
URATY] ) AT R AT WHE 98 o 2 |

DY -1l :

T TolTgH | Th A UISH 31dId ASDRD HaAld]
2| TolTsH ¥ d8hR T~iTsH &l SARD wY I Afhy
T 2 |

o Ry fAwent # 4 9 Sox T

(1) TF $UF 1 3IR HAF |1 7TeAd 2 |

(2) BUF | e TR B I TeAd B |
(3) HAF | TTAd & IR HAT 1 9T 2|
(4) BT PAT 1 3IR B 11 FE B |

Pwd A fAeol R dwead GEET B
TN & foU el Bar 2

(1) IS FIATT
(2) mRNA
(3) rRNA
(4) tRNA
frafafag & 9 &9 91 gaelled Fa dad
70 S SENM @Y dlt Uh o9 § SuRer ®

(1) Udhal TS DNATIEI ARl & 1Y
(2) S9 TrSS TBIT 7 DNA

(3) Sdd Trs8 DNA Twadh f3Teetl | foRT garm
4) S9 Trss I DNA e Iid=a & wrer

ST fowre 19 1%, da1 g8 A PRIl
@ U BT R

(1) Sy H Uge BIRTAT & oI § DNA Bl
FAT A

(2) TRIS B Bl oI § DNA @I AT &I T

(3) TWIS JTHS BT T H DNA B FHH AT

(4) TS WD BT AT H DNA DT A1AT AR AT

9.

92

93.

94

Given below are two statements

Statement I:

During the chemical reaction the number of carbon
atom and functional group are changed in enzyme
molecule.

Statement Il :

In all enzymes A non protein constituents called
cofactors are bound to the enzyme to make the
enzyme catalytically active.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementlis incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Non-membranous nucleoplasmic structures in
nucleus are the site for active synthesis of

1) protein synthesis

(
(
(3) rRNA
(4) tRNA

Which of the following nucleic acids is present in
an organism having 70 S ribosomes only?

(1) Single stranded DNA with protein coat
(2) Double stranded circular naked DNA

(3) Double stranded DNA enclosed in nuclear

membrane

(4) Double stranded circular DNA with histone
proteins

After meiosis |, the resultant daughter cells have
(1) same amount of DNA as in the parent cell in S

(2) twice the amount of DNAin comparison to haploid
gametes

(3) same amount of DNA in comparison to haploid
gamete
(4) four times the amount of DNA in comparison to

haploid gamete




95.

96.

97.

98.

fr=fafea & 9 o9 sdfAe e axfiefw
®T &I A9TT ¥

(1) WIDISHIE 3+

2) BRBIfIUS

(3) Plerwsel

(4) BB

PIRMHT freell @ IR-—IR Ay R AfSpa

IRaed & d9 J&I =R ®

(1) fAfspa uRaed IR—au=s Brar  Sdfd afha
IRIET TIATHS BIaT © |

2) ffspa aRags &1 BRI fBreell & IR—UR Udh
AT=dl YgordT & SIexd 8l & STdd Afhd
gRagd # fdaw &1 g & fou oo &t
ATTLIHAT B 2 |

(3) ST& dIF BIS AR ol o

(4) <fsha R8T BT SITGT ATP &I A Bl §
Stefds AfSpa aRaes & faea & o™ & forw
&Y ATP & aegahdT el © |

HeRll & W8l HH BT agd BN

(1) THE AT — Db MR — R —
A — BIRTHT [T (fAgerd) — BT
favres - Sharafe

(2) D ST D RIFRT — R
TS DIRTDT o (fAged)— Siarafaa—
PIRAT faveH

(3) TP G- RITHI— S RIFRYT — JHAST
— BTG 9o (fage ) > SIeT faaeT—
Straregfed

(4) THD STTH—> D RARO— RN — JHToT
— PIRTGT e - PIfE fawro (fIge) —»
Straregfed

AT aPH D ged YT # Py A A
yes faefia T8 sk 8 wife

(1) 9% # USRI | Yeb I el g9 T&dl §
(2) TGS UTaReIT # FSH &7 R S2d 8idl &
(3) TYSITSA UTARAT # LH T Wk I=d eIl 2

(4) SIS UTaRAT H FSH 3R LH TF1 &1 WR HH
BIAT &

95. Which of the following organic compounds is the

96.

97.

98.

main constituent of Lecithin?
(1) Arachidonic acid

(2) Phospholipid

(3) Cholesterol

(4) Phosphoprotein

The main difference between active and passive
transport across cell membrane is :

(1) passive transport is non-selective whereas active
transport is selective

(2) passive transport requires a concentration gradient
across a biological membrane whereas active
transport requires energy to move solutes.

(3) Noanydifference between them

(4) active transport requires more ATP while passive
transport requires less ATP to move solutes

Select the correct sequence of events.

(1) Gametogenesis - Gamete transfer — Syngamy

— Zygote— Cell division (Cleavage)— Cell

differentiation — Organogenesis

(2) Gametogenesis — Gamete transfer —» Syngamy
— Zygote—  Cell division (Cleavage)—

Organogenesis— Cell differentiation

(3) Gametogenesis —» Syngamy— Gamete transfer

— Zygote — Cell division (Cleavage)— Cell

differentiation —» Organogenesis

(4) Gametogenesis— Gamete transfer—» Syngamy
— Zygote — Cell differentiation — Cell division

(Cleavage) — Organogenesis
No new follicles develop in the luteal phase of the
menstrual cycle because :
(1) Follicles do not remain in the ovary after
(2) FSH levels are high in the luteal phase
(3) LH levels are high in the luteal phase

(4) Both FSH and LH levels are low in the luteal phase




99. DNA & f=feifRad fodR & ERT mRNA &1 T

100.

101.

102.

103.

gHH BRI
3' ATGCATGCATGCATG 5' dfaT ¥¢+s
5' TACGTACGTACGTAC 3' BIfST w+e
(1) 3'AUGCAUGCAUGCAUG 5'
(2) 5'UACGUACGUACGUAC 3'
(3) 3'UACGUACGUACGUACS5'
(4) 5'AUGCAUGCAUGCAUG 3
TE STOUT BT TIT BN

(1) TUCHA - SfHar &1 S
(2) Wt - g%l BHST
(3) STeira iU - FATH
(4) Rrcrmed - BHS
qE%d pBR 322 R Tl ufoeifes ufemieh <=

feas fog sem 2
(1) Uil 8ik egrarsdel™
2) Ui iR FARAB-dIed

(3) TEARABIDIA 3R CSIATSTA

(4) TTTATSTAA IR BT

AT Wl gRT Bl g a1 Se™
et a9 51 eaRed sgaed & S
AT BT SYART HRAT HEATdl B

(1) STAAUA

(2) STATIRRHT

OIEIRIEIREsS!

(4) 9TATAR

AT g Il TR &1 B @ g dTal AGT &
a1 faarg 89 # WioE 97 O AB Yo UE
AT B X@Al 2 | URTTH HT T GWIfIA
SiFIeigY 8 |ehal @ |

(1)
(2) IA(FR); 1B I8 (FTaT)
3)
@) NI (R) ; I8 i(FTaT)

1A (FIR) ; 1B I8 (7<)

A 1A (FR) ; 18§ (ATeT)

99.

100.

101.

102.

103.

What will be the sequence of mRNA produced by
the following stretch of DNA?

3'ATGCATGCATGCATG 5' TEMPLATE STRAND
5'TACGTACGTACGTAC 3' CODING STRAND

(1) 3'AUGCAUGCAUGCAUGS'

(2) 5 UACGUACGUACGUAC3'

(38) 3'UACGUACGUACGUACYS'

(4) 5AUGCAUGCAUGCAUG3

Select the correct match

(1) Flatworms — Network of trachea
(2) Sponges — Book lungs

(3) Aquaticarthropods — Gills

(4) Coelenterates — Lungs

The two antibiotic resistance genes on vector pBR
322 are for

(1) Ampicillin and Tetracycline

(2) Ampicillin and Chloramphenicol
(3) Chloramphenicol and Tetracycline
(4) Tetracycline and Kanamycin

Exploitation of bioresources of a nation by
multinational companies without authorization

from the concerned country is referred to as
(1) Bioweapon

(2) Biopiracy

(3) Bioethics

(4) Biowar

In a marriage between male with blood group A
and female with blood group B, the progeny had
either blood group AB or B. What could be the
possible genotype of parents?

(1)
(2) r1A(Male); BB (Female)

(3)
(4) i(Male); I®i(Female)

[*i(Male); IB 1B (Female)

I 1A (Male) ; IBi (Female)




104. B fpar &1 pafll & e fAeuor §
A B 3R C &I TgaM™

fefafag ¥ 9 98 oew &1 o9 &=

(1) A = RIS AT, B = 8Mi9 UTer |affqs;
C=udH

2) A=UISH ;B = U8 C = Ishid AMP
3) A=RITS ;B =TMEr; C = fgdiie a<raEd

(4) A=9IEH 8MH; B = T AMP; C = B ITel
|t

AT © U Surteid yfoRem 9= grar &1 S
f irorTe @1 frwgurd) eyar 81 e ofl

SISl UfaReTT 9w o & 98d R ORI S
2| wife us

(1) 9gd faRre &k fAf=1 Aol BT START B
2

2 e fgdms gl &1 9em & forg wfa
BIRIBIAT BT T

(3) TG arad HIRGR @dr ® S & ATghied
Pl eToT 3R T BT 2 |

@) fAfspa ufoRem ue™ &Rar &

106. fF=ferRag & @ @9 f 9 v w—ufaxer
e 2

(1) Az afas
(2) SIreT @Y ey
(3) erRergforar

(4) T

105.

104. Identify A, B and C in the diagrammatic
representation of the mechanism of hormone
action.

Physiological response

Select the correct option from the following:

(1) A = Steroid Hormone; B = Hormone receptor

Complex; C = Protein

(2) A = Protein Hormone; B = Receptor; C = Cyclic
AMP

(3) A= Steroid Hormone; B = Receptor; C = Second

Messenger

(4) A = Protein Hormone; B = Cyclic AMP; C =

Hormone-receptor Complex

105. Humans have acquired immune system that

produces antibodies to neutralize pathogens. Still
innate immune system is present at the time of

birth because it
(1) is very specific and uses different macrophages

(2) produces memory cells for mounting fast secondary

response.

(3) has natural killer cells which can phagocytose and

destroy microbes
(4) provides passive immunity.
106. Which of the following diseases is an auto-immune
disorder?
(1) Myasthenia gravis
(2) Arthritis
(3) Osteoporosis

(4) Gout




107. B FTHUAT BT TAT PNY

108.

109.

110.

A. HTSHIERY l. Pdd

B. TreamEr Il. GISTsm
feweiforfest

C. TARKT . S

D. BRIhIHd IV. SigTo]
W

(1) A-l, B-II, C-lll, D-IV
(2) A-IV, B-lI, C-lll, D-|
(3) A-lll, B-II, C-I, D-IV
(4) A-ll, B-I, C-Il, D-IV
frafafed & & ®9 o s@wer demsIss

iR § IReIsvIES 8ME B Jad $-1 & foay
SECUE RG]

(1) frareha faerfda DR & &
(2) Y& Ca %R § FHHI

3) 3Rer Ca*? WX H HHI

(4) & Ca? %R H qala

frefafea & @ &9 91 B9 98 B

(1) 1UDs T& R iR ufdse o= & 915 ufoRenfud
B B ALY HAl T8l Bldl &

(2) IUDs \ATHIRI: SUANTHAl & gRT ¥ 8l iR
yfose fhar ST 2 |

(3) 1UDs YEHI[RT & BITATSCINI DT THRIEI H qeml
g

(4) 1UDs IS S Pl qA=aId Hal o

frrfafag & @ @9 91 39 SaiRka 9
fo9ly wu @ S99 S B ywifad & Hxar 2|

(1) SHTsed arcd iR fRiergfew-B
2) Riwefora sk Sersed gdte

(3) AIDS 3R fRucsfew B

(4) FHZSIURT 3R AIDS

107. Select the correct match

A. Microsporum [. Fungi

B. Entamoeba Il. Protozoa
histolytica

C. Wuchereriamalayi lll. Animal

D. Streptococcus IV. Bacteria
pneumoniae

(1) AL, B-ll, C-lll, D-IV
(2) A-IV, B-Il, C-lII, D-l
(3) A-llL, B-Il, C-I, D-IV
@) A, B-I, C-ll, D-IV
108. Which of the following conditions will stimulate
parathyroid gland to release parathyroid hormone
(1) Fallin active Vitamin D levels
(2) Fall in blood Ca*? levels
(3) Fall in bone Ca*?levels
(4) Rise in blood Ca*?levels
109. Which of the following is a correct statement?
(1) 1UDs once inserted need not be replaced.
(2) 1UDs are generally inserted by the user herself.

(3) IUDs increase phagocytosis of sperms in the
uterus.
(4) 1UDs suppress gametogenesis.

110. Which of the following sexually transmitted
diseases do not specifically affect reproductive

organs ?

(1) Genital warts and Hepatitis-B
(2) Syphilis and Genital herpes
(3) AIDS and Hepatitis B

(4) Chlamydiasis and AIDS




1.

112.

113.

fr=fafRad a1 @1 s 9HeEfT BIsad &
|l gAfera &

(a) ST (i) Hrereept

(b) wrgHferar (i) rERfHeT
(c) fawmerer (i) SHTSATSHET
(d) wHRaT (iv) Hrereer

(1) (@)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(ii)
(3) (@)-(i), (b)-iii), (c)-(iv), (d)-(ii)
@) (a)iii), (b)-(iv), (c)-(ii), (d)-(i)

frfafea § 9 @9 91 99 99 TEE @
arer fgursdasfac arer 2

(1) TD SHISAISHA

(2) TRhefeeliat

3) wicrefereiisy

(4) Tt

frfaRad IR 93T & 39 aEIle

O & AR gafera &Y

(@) g Al (i) 2N o & forg
gorfl BIfTETRIl BT
U 91 Sired! &

(b) SIS AT (if) TR & qeTH |
AT P g
PIRTERN B HemRd
PRl B

(c) o afxr (iii) SIBAT BINBN B
IR—IR A9 BT
e & forg e B
g oxeT ©

(d) rgftcs afkr (iv) SIT—URT B
PIRDRN & 9
FEAROT DI AT B
& forv ATgerarsiie
AT

frafafea 4 9 98 e &1 999 &=
1) (a@)(i), (b)-(iv), (c)-(i), (d)-(iii)

2) (a)-(iv), (b )-(ii), (c)-(i), (d)-(iii)

3) (a)-(iii), (b)-(i), (c)-(iv), (d)~(ii)

4) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

A~ S S~

1.

Match the following genera with their respective

phylum :
(@) Ophiura (i) Mollusca

(b) Physalia (i) Platyhelminthes
(c) Pinctada (iii) Echinodermata
(d) Planaria (v) Coelenterata
(1) (@)-(iv), (b)-(i), (c)(iii), (d)-(ii)

(@) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

3) (@)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(4) (a)-(ii), (b)-(iv), (c)-(ii), (d)-(i)

112. Which of the following animals are true

113.

coelomates with bilateral symmetry ?
1) Adult Echinoderms
2) Aschelminthes

(
(
(3) Platyhelminthes
(

4) Annelids

Match the following cell structure with its
characteristic feature :

(@) Tightjunctions (i) Cement neighbouring
cells together to form

sheet

(b) Adheringjunctions Transmit information

(i)
through chemical to
another cells

(c) Gapjunctions (iiiy Establish a barrier to

prevent leakage of fluid
across epithelial cells

(d) Synaptic junctions (iv)

Cytoplasmic channels
to facilitate
communication
between adjacent cells

Select correct option from the following :
1) (@)-(ii), (b)-(iv), (c)-(i), (d)-iii)

2) (a)(iv), (b )-(ii), (c)-(i), (d)-(iii)

3) (a)(iii), (b)-(i), (c)-(iv), (d)-(ii)

(@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

~ A~~~

)
4)




14. SAYES ead@T & 98 I & 97 ARHaH
AT (@A) S U Afdd G:¥ad- &) gahdl
3|

(1) a9 emar

(2) ST erHar

(3) ITT:TIAT T

(4) BPBS DI ol A

e Hadl d T TUT WSwHA B '

R SA TS G U9HGR & WY § B HRdl
2

(1) SAHrS fagdiaxor &1 fFread &% IEar @

(2) SATS gNles fava &I YT - & oIy THHA
g 7

(3) Bad SA IS TR Bl Al fI9a W FaodT ©

(4) SAIS fagdiaxvr &5 IeaaH &R Tl §

Th a9y Misd &ae g/ TEEd & Hrad
feR & ¢ gem BT | TER-IHRAR
Jed & WY, geg MY & forw sma & B
H 0.1 Jpvs & fag & oxar B

I8 < AT <l B

(1) &I BT &H- H Yd9 B B fov

2) e goisy & @rell & & forg

(3) Yad B THRI FAT H YA B b U
(4) TET Qoiey & Grell A & forg

gl § feae MR (6 BRE & HRUT BN
2 o 5 <@ar &

(1) 3P foeed
2) fafad wu ¥ gl W
(3) o= WIS 31maRer & gad RNA

115.

116.

117.

(4) T WIS SraRoT & Had DNA

frfafea & 9 @9 awg gl ueifa
&l 2|

(1) S
(2) TsEA
(3) eI
(4) dergiiow

118.

114. The maximum volume of air a person can breathe
in after a forced expiration is known as :
(1) Expiratory Capacity
(2) Vital Capacity
(3) Inspiratory Capacity
(4) Total Lung Capacity

115. All the components of the nodal tissue are

autoexcitable. Why does the SA node act as the
normal pacemaker ?

(1) SA node has the lowest rate of depolarisation

(2) SAnode is the only component to generate the
threshold potential.

(3) Only SA node can convey the action potential to
the other

(4) SA node has the highest rate of depolarisation

116. A specialised nodal tissue embedded in the lower
corner of the right atrium, close to Atrio-ventricular
septum, delays the spreading of impulses to heart
apex for about 0.1 sec.

This delay allows -
(1) blood to enter aorta.
(2) the ventricles to empty completely.
(3) blood to enter pulmonary arteries.
(4) the atria to empty completely
117. Mad cow disease in cattle is caused by an agent
which has :
(1) Inert crystal
(2) Abnormally folded protein
(3) Free RNA without protein coat
(4) Free DNA without protein coat
118. Which of the following shows whorled phyllotaxy?
(1) Mustard
(2) Chinarose
(3) Alstonia

(4) Calotropis




119.

120.

121.

122

123.

fgsrved), Rredy s <@w & fAear 2
(1) SRy

(2) TeTHIER
(3) <raTdI
4) ST

fr=fafea & @ o9 o d yoren @

Tgd 9Eg YHR ©

(1) T FAE [I9TTT araver & 1ol Igsh drolo]d
2) T HHIE FAGA AU & 1T Uhalaldh
(3) 3 HHIE FHAGA! [T & AT Udhd ST

(4) <1 pHdE R e & e fgdieme

frafafaa § 9, R $e & feiy d&or

& FE HAoH 7

(1) ardfH®, e, srfaardy

2 feorre, sftam), srfed

(3) ATdHIfH®, srTte, feoimRe

@) feoRe, IR—srframd), sruse

D ¥ deihe 7 eRaww § g e &

DNA & UHAE afie ugefi

(1) drsd 3R <eH

2) AT 3R el

3) &Y 3R =4

4) Sihe 3R HIFTS

JofRIica d sgde &1 ¥fhar @, RNA

UfelPRe | SaiRad &xaT 2|

(1) 3R URIRHRUT & AT MRNA, TBTEA AR
T

(2) tRNA, 5S rRNA 3R snRNAs

(3) rRNAs-28 S, 18 S3iR5.8S

(4) mRNA ST 3R, hnRNA

119.

Bicarpellary, Syncarpous ovary with obliquely

placed septum is seenin:
(1) Brassica
(2) Gulmohar
(3) Soyabean

(4) Sesbania

120. Which of the following is most common type of

121.

embryo sac in angiosperms?

(1) Tetrasporic with one mitotic stage of divisions

(2) Monosporic with three sequential mitotic
divisions

(3) Monosporic with two sequential mitotic
divisions

(4) Bisporic with two sequential mitotic divisions

From the following, identify the correct

combination of salient features of Genetic Code
(1) Universal, Non-ambiguous,Overlapping

(2) Degenerate, Overlapping, Commaless

(3) Universal, Ambiguous, Degenerate

(4) Degenerate, Non-overlapping, Non ambiguous

122. Which scientist experimentally proved that DNA is

123.

the sole genetic material in bacteriophage ?
(1)
2
3)
(4)

In the process of transcription in Eukaryotes, the

Beadle and Tatum
Messelson and Stahl
Hershey and Chase

Jacob and Monod

RNA polymerase | transcribes -

(1) mRNA with additional processing, capping and
tailing

(2) tRNA, 5 SrRNA and snRNAs

(3) rRNAs-28S,18S and5.8S

(4) Precursor of MRNA, hnRNA




124,

125.

126.

127.

$9 @ AgaRie sEven #, ywifaq «fed o
TS PHIRGI, 9 T ORE XXY T@gar ?

(1) e
(2) FefgTheex g
(3) FhTgersrer=gdan
(4) TR RiegH

e sifshar & folg |E Igwuar &1 a9
N

(1) TR9eTH IR Brer = +3iR+

@ foR v IR AFE@ = +3R -

(3) B AR BIaT = +3N+

(4) A TTEA SR gofreT = 3RO
AT

frafafaa & woa Ry U 2, & afaem
(A) 3 IR T BRY (R) I <ldes &

JAMABAT (A) : 3N 3R ARB=< JeIwUdl Bl Uh
JETERT ¢ |

PRI (R) : AT A7 BT HUKRYT 8 SIG(h ITdRdb<

STE BT HUTKIRT § <l I FHAM BRI B B (HIST

BT HUE)

SWRIF U & AAG § FE g9 W, [

fag T fapaat § ¥ Sar A

(1) (A) |8l § W] (R) 9al T8l ©

) (A) 98I &1 8 g (R)Wel ©

(3) GMT (A) 3R (R) W&l ® 3R (R), (A) & Al RAT
BT B |

(4) TFT (A) 3R (R) W&l B 3R (R), (A) & Fal
RS FT&! BT 2 |

TRAfes WE BI—yrgd 9 fead e g

(1)@@%%%&@@@?{%%@&

(2) I @RARCH |E) TUIU-IeH I Gedl ¥ a8 81
g

(3) ST VUIT~ITSH ¥ SJed &fvrd eI @

@) T Tz SART rfAfhart @ e wear |
WEDHRS P A& HTH I & |

124,

125.

126.

127.

In which genetic condition, each cell in the
affected person, has three sex chromosomes XXY?

(1) Thalassemia

(2) Klinefelter's Syndrome
(3) Phenylketonuria

(4) Turner's Syndrome

Select the correct match for population

interactions

(1) Predator and prey = +and +
(2) Liverflukeandhuman = +and -
(3) Cuckoo and crow = +and +
(4) Seaanemone and = —and 0

clown Fish

Given below are two statements: One is labelled
asAssertion (A) and the other is labelled as Reason
(R)

Assertion (A): Potato and sweet potato is an example

of analogy.

Reason(R): Potato is modification of stem while sweet
potato is maodification of root but they perform similar

function (storage of food).

In the light of the above statements, choosethe

correct answer from the options given below :
(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct

explanation of (A)

Both (A) and (R) are correct but (R) is not the correct

explanation od (A)
Prosthetic groups differ from co-enzymes in that
(1) they require metal ions for their activity

(2) they (prosthetic groups) are tightly bound to

apoenzymes.
(3) their association with apoenzymes is transient.

(4) theycan serve as co-factors in a number of enzyme

catalyzed reactions.
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fafrg o9 ¥ Rl & f9 wfed @ar ?
R PIRPT Ih & BT | grawen F

(1) YaTaRe—| & SITRIICI JTERT TR IR—FHSI ORI
& IR Hafd EiorgE & 4

2) qalaReI—| & SIS Jfavdl W IR—FHGIT
TOREET & IR Haid FEogE & 4=

3) YalaReI—| & SIS Jfavdl W IR—FHGIT
TOREET & 1R Haid FEogE & 4=

(4) qalaer—| & SIS Savedl W IR—FHGIT
TORET & 1R Hald ENogE & 4

W ¥ (ETS) 399-1 Soideid URded o~ el

R Rerg gar ?

(1) #rscIpiivgas Afgad
(2) 9B ATZIBIVgI fRreel

(3) IAM<IRD AZCIDI Vg f3leell

(4) SIRfSTeeld gD

29 Td W U W, uRifie Co, UEd ©
(1) STRIATHIEID 37T

2) BRBIFTIRIG 37T

(3) BIEpIZAT UISHde

(4) RuBisCO

THlclddey & Mo # e dsifie FdsIBR
P Hafd war 8 &R Hae & yela HRar
2 TP o9 © w1 | YHRT & §SaRT BRal
gl 98 wadl § & e 9= v 9 e 4
SHT BT B

(1) 71 3R &7 BT

2) e 3R &I UdT

3) AR &R AT wabTeT

(4) T 3R AT YhTaT

T @ BHA P USEAR B M D HH H,
frafafaa & 4 @9 9 Uy Ifg fFarme &
B fear oA & 2

(1) ATl

(2) 3l

3) R

(4) wrgPIERE
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Crossing over takes place between which
chromatids and in which stage of the cell cycle?

(1)

Non-sister chromatids of non-homologous
chromosomes at Zygotene stage of prophase .

Non-sister chromatids of

@)

homologous
chromosomes at Pachytene stage of prophase I.

Non-sister chromatids of

(3)

homologous
chromosomes at Zygotene stage of prophase .

)

Non-sister chromatids of non-homologous
chromosomes at Pachytene stage of prophase I.

Where is the respiratory electron transport system
(ETS) located in plants?

(1) Mitochondrial matrix

(2) Outer mitochondrial membrane
(3) Inner mitochondrial membrane
(4)
In Hatch and Slack pathway, the primary CO,

Intermembrane space

acceptor is-

(1) Oxaloacetic acid

(2) Phosphoglyceric acid
(3) Phosphoenol pyruvate
(4) RuBisCO

One scientist cultured Cladophorain a suspension
of Azotobacter and illuminated the culture by
splitting light through a prism. He observed that
bacteria accumulated mainly in the region of :

(1) Violet and green light
2
(3) Orange and yellow light

Indigo and green light

(4) Blue and red light

In order to increase the yield of sugarcane crop,
which of the following plant growth regulators
should be sprayed ?

(1) Ethylene

(2) Auxins

(3) Gibberellins
(

4) Cytokinins
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What type of pollination takes place in Vallisneria
(1)
)

Pollination occurs in submerged condition by water.

Flowers emerge above surface of Water and

pollination occurs by insects.

(3)

Flowers emerge above water surface and pollen is

carried by wind.

)

Male flowers are carried by water currents to female

flowers at surface of water.

In which one of the following, both autogamy and

geitonogamy are prevented?
(1) Wheat

(2) Papaya

(3) Castor

(4) Maize

Western Ghats have a large number of plant and
animal species that are not found anywhere else.
Which of the following terms will you use to notify

such species ?
(1) Endemic

(2) Vulnerable
(3) Threatened
(4) Keystone

Between which among the following, the

relationship is not an example of commensalism?
(1) Orchid and the tree on which it grows

(2) Cattle Egret and grazing cattle

(3) SeaAnemone and Clown fish

(4) Female wasp and fig species

Coca alkaloid or cocaine is obtained from

(1) Papaver somniferum

(2) Atropa belladona

(3) Erythroxylum coca

(4) Datura
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fr=falaag wgPplsd @ Siel © 9= I 49T
SireT TN ATghlsd XEdl & il & SiasdNd &l
e ST 5 o @

(1) TERRTEN @R Isois
(2) VIESIRTA AR TgSId
() ARAFIRAT MR ISSfaIH
4) TERRTEN SR ArIAIFIRAT

e T~IgH DNA ¥ Jaelieigsd & &M &I
SART FRaT 2|

(1) DNA T8I
(2) QUSIYFITS
(3) ISl
(4) "Iégs

RNAi #, S=9 &I 9ga~d fhder SUANT oxe
foar ST 2|

(1) dsRNA
(2) ssDNA
(3) ssRNA
(4) dsDNA

frfafed & gafod & ok 98 Reea &
TIT WX

-1 il
A SIhlelRe i g
SIREIRRT BT &1
B. fdge™ ii. PIRTHRIT B TE
S f o & w9 H
faufed ram &
C. ARSI iii. REINRE BT I
e URd QUSHLIRA
A el ©
D. 3fRTUl iv. TS BT FHGAT
EEISE]

(1) A-ii, B-i, C-iii, D-iv (2) A-iii, B-iv, C-ii, D-i

(8) A-iii, B-i, C-ii, D-iv (4) A-ii, B-iv, C-iii, D-i
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Among the following pairs of microbes, which pair
has both the microbes that can be used as
biofertilizers ?

(1) Aspergillus and Rhizopus
(2) Rhizobium and Rhizopus
(3) Cyanobacteria and Rhizobium
(4) Aspergillus and Cyanobacteria

An enzyme catalysing the removal of nucleotides
from DNAis:

(1) DNAligase
(2) Endonuclease
(3) Chitinase

(4) Protease

In RNAI, the genes are silenced using :

(1) dsRNA

(2) ssDNA

(3) ssRNA

(4) dsDNA

Match the following and choose the correct options
Column- Column-

A. Trophoblast i. Embedding of

blastocyst in the
endometrium
B. Cleavage ii. Group of cells that
would differentiate
as embryo
C. Innercellmass iii. Outer layer of
blastocyst attached
to the endometrium
D. Implantation iv. Mitotic division of
zygote
A-ii, B-i, C-iii, D-iv (2) A-iii, B-iv, C-ii, D-i

A-iii, B-i, C-ii, D-iv (4) A-ii, B-iv, C-iii, D-i
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(2) 200 gy goe

3) 5ufa gue
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Significance of 'heat shock' method in bacterial
transformation is to facilitate

(1) Binding of DNA to the cell wall
2
3)

Uptake of DNA through membrane transport proteins

Uptake of DNA through transient pores in the
bacterial cell wall
(d)

Which of the following organism is not a source of
restriction endonuclease ?

Expression of antibiotic resistance gene

(1) Haemophilus influenzae
(2) Escherichia coli

(3) Entamoeba coli

(4) Bacillus amyloliquefaciens
Pathophysiology is the

(1) Study of physiology of pathogen
(2) Study of normal physiology of host
(3) Study of altered physiology of host
(4) None of the above

If a population of 50 Paramecium present in a pool
increases to 150 after an hour, what would be the
growth rate of population?

(1) 50 per hour
(2) 200 per hour
(3) 5perhour
(4) 100 per hour

What is common to the techniques (i) in vitro
fertilisation, (ii) Cryopreservation and (iii) Tissue
culture ?

(1) Allare In-situ conservation methods
(2) All are Ex-situ conservation methods
(3) Allrequire ultra modern equipment and large space

(4) Allare methods of conservation of extinct organisms

147. Which of the following statements is correct ?

(1) Parthenium is an endemic species of our country

(2) African cat fish is not a threat to indigenous
cat fishes

(3) Steller's sea cow is an extinct animal

(4) Lantanais popularly known as carrot grass
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TMV — RNA ShTHe 1T &
JFERATBST — DNA HehHdh BT &
YIS — RNA HhHad 8l &

. AlShH — & UBR B Siig AMAA &

(1) ®de A, B, D

(2) ®ad B,C,D

(3) ®aa A, C,D

@) |+

frfafed & gafod & ok 98 Reea &
TIT B

o w>

e | Carcu il
A. FEHA i. gR PIRGR
B. amad @® PIRNGR ii. Tdhe Rd
C. = jii. HHT URA
D. drguEdl iv. ETell TR BIRTSHR

(1) A-iii, B-iv, C-i, D-ii

(2) A-i, B-ii, C-iii, D-iv

(3) Aiii, B-ii, C-iv, D-i

(4) A-iii, B-ii, C-i, D-iv

39 e @ HIRGR Sifdg R s Rar
P A URiT &xal 1 3 IiEe wERT W
UgE B B

(1) SiTgerd

(2) THRABISH

(3) Ple-ThIgH

(4) sdrsfiy

fea I favsoae e g @ csfrr &
U OM & GO § Olife 4 Il 3R 26
Tt Xear R

1) 26

2) 1

3) 5

4) 30
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(
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(
(
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(4) I8 FRRICelD Bl &

148. Select the correct match

149.

150.

151.

152.

A. TMV—-RNA is infectious

B. Bacteriophage — DNAis infectious
C. Viroids — RNA is infectious

D

Lichen — Two types of organism involved

(1) OnlyA, B, D
(2) OnlyB,C,D
(3) OnlyA,C,D
@) All
Match the following and choose the correct option
from below
Column | Column Il
A. Cuticle i. Guardcells
B. Bulliform cells i. Singlelayer
C. Stomata iii. Waxy layer
D. Epidermis iv. Empty colourless cell

1) A-iii, B-iv, C-i, D-ii
2) A-i, B-ii, C-iii, D-iv
3) A-iii, B-ii, C-iv, D-i
4) A-iii, B-ii, C-i, D-iv

Cells of this tissue are living and show angular

A~ S S~

wall thickening. They also provide mechanical
suport. The tissue is

(1) Xylem

(2) Sclerenchyma

(3) Collenchyma

(4) Epidermis

How many shoot apical meristems are likely to be
present in a twig of a plant possessing 4 branches
and 26 leaves

(1) 26

@ 1

) 5

4) 30

Which one of the following statements is true for
cockroach ?

(1) The number of ovarioles in each ovary are ten
(2) The larval stage is called caterpillar

(3) Anal styles are absent in females

(

4) They are ureotelic
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DIHT S GoH H faad d gAfed dY
IR FE APy &1 T9T BN

Hic | i Il
A. BAHRR i. fIeRd B 37 srel
D HGAT
B. THIUR ii.  YERTIRIT &1 BT
C. THSIBR iii. Rger Al &1 fog
D. 3w Aferat iv. I TS

(1) A-iii, B-iv, C-ii, D-i

) A-iv, B-iii, C-ii, D-i

(3) A-iv, B-ii, C-iii, D-i

(4) A-ii, B-iv, C-iii, D-i

G, el & vy # W&l TF &1 999 W
(1) PIRrGT SUTTR w3 Ay et 2

(2) DNA SIf¥rer # ufdafaas i &ear 2

(3) I TSI & HIWUT B U UTAReAT T2l &
(4) DIRMHT ghg HIAT A <l 2

BT H RIS (in nm) BT A gyHTIETAS
forarefiar fafeRor (PAR) seardl 22

(1) 100-390
(2) 390-430
(3) 400-700

(4) 760—1000

A. 24D i. 2R T DNA

B. ABA ii.  drfecT

C. guSei iii. 7T BT g BT

D. GA iv. ERUAIR 2d G &l
Bk

E. dArsclars—~ V. ol BT YT

A-iv, B-iii, C-v, D-ii E-i
A-v, B-iii, C-iv, D-ii, E-i
A-iv, B-i, C-v, D-iii E-ii
A-v, B-iii, C-ii, D-i E-iv

153.

154,

Match the following with reference to cockroach

and choose the correct option

Column | Column Il
A. Phallomere i.  Chainof developingova
Gonopore ii. Bundles of sperm

C. Spermatophore iii. Opening of the

ejaculatory duct

D. Ovarioles iv. The external genitalia

A-iii, B-iv, C-ii, D-i

A-iv, B-iii, C-ii, D-i

A-iv, B-ii, C-iii, D-i

A-ii, B-iv, C-iii, D-i

Select the correct statement about G, phase

(1) Cellis metabolically inactive

(2) DNaiin the cell does not replicate

(3) ltis not a phase of synthesis of macromolecules

(4) Cell stops growing

155. Which range of wavelength (in nm) is called

156.

photosynthetically active radiation (PAR) ?
(1) 100-390
(2) 390-430
(3) 400-700

(4) 760—1000

Match the following

A. 24-D i. Herring sperm DNA
B. ABA ii. Bolting

C. Ethylene iii. Stomatal closure

D. GA iv. Weed - freelawns
E. Cytokinins V. Ripening of fruits

(1) A-iv, B-iii, C-v, D-ii E-i
(2) A-v, B-iii, C-iv, D-ii, E-i
(8) A-iv, B-i, C-v, D-iii E-ii

4) A-v, B-iii, C-ii, D-i E-iv
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(4) Sed Rl 37
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frrefafeg s & oax gl fgavor &
PHIROT BT B

(1) Na* 3R K*
(2) CO,3MRCI
(3) Ca* 3R Mg*

(4) Ca™3RCI-

e ATRUAT BT TAgT BN

(A) fasma fawa i, AT ORI B
HeRor 7 wfie
ESSIDE]

(B) AfTapT ST i. IRIAfe® 3R U
Aefted afear
& 4= i

(C) Argfted TRR iii. fasma afrer fereen
® AR—UR faggea
fava &1 =R

(D) af=raT Hamy iv. SaIYT & oy Udh
afdr &1 fagd
TR ST wfafesan

(1) A-iii, B-iv, C-ii, D-i
(2) A-i, B-ii, C-iii, D-iv
(3) A-iii, B-iv, C-i, D-ii
(4) A-iii, B-ii, C-iv, D-i
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Which of the following statements is correct ?

(1) ADH - prevents conversion of angiotensinogen in
blood to angiotensin

(2) Aldosterone — Facilitates water reabsorption
(3) ANF —enhances sodium reabsorption
(4) Renin— causes vasodilation

Dialysing unit (artificial kidney) contains a fluid
which is almost same as plasma except that it has
(1) High glucose
(2) Highurea

(3) Nourea

(4) High uric acid

Potential difference across resting membrane is
negative. This is due to differential distribution of
the following ions

(1) Na*and K*

(2) CO,”"andCI-

(3) Ca™ and Mg**

(4) Ca™andClI-

Select the correct match
(A) Resting potential i. Chemicals involved in
the transmission of
impulses at synapses
(B) Nerveimpulse ii. Gap between the pre
synaptic and post
synaptic neurons

(C) Synaptic cleft iii. Electrical potential
difference across the

resting neural
membrane

(D) Neurotransmitters iv. An electrical wave like
response of a neuron
to a stimulation

(1) A-iii, B-iv, C-ii, D-i

(2) A-i, B-ii, C-iii, D-iv

(3) A-iii, B-iv, C-i, D-ii

(4) A-iii, B-ii, C-iv, D-i
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MNXE [ T3 & fay M 3R N glied a1
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(1) 42%
2) 49%
3) 9%
(4) 58%
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A. SIfd| i. e e &
AETH |9 Sfla| @1
St

B. 3muR+ ii. 3T BT SN 3R
STTUANT

C. o ® iii. SRad g

D. B S iv. WTRiId o9 &
gRT famra

(1) A, B-iv, C-ii, D-ii

() A-iv, B-i, C-ii, D-ii

(3) A-ii, B-iv, C-iii, D-i

(4) A-ii, B-iii, C-i, D-iv

IR 7N e & g 98 $oF &1 g9 N
a. Piffsdelis § TR TR § SufRerd ©

b. RN § TR =iex ST I afesd
AT 2 |

c. BSY UT: T hely offh Hed # o wefig g
=

d. O @ 9 G TBfordl dEel |
(1) a, b, d (2) @adta, b
(3) a, b, c @) |+
Wogd! & oy W& FoF B AT BN
a. I8 TR Bffel & 9a §

b. SIS 3USIIY & YR TR BT & 3N T4
Bl Th dIoIvs Biar 2 |

c. TP dbell Uil Yb 6 TR UhR wU H ol
B 2

d. Il TSI
(1) |+
(3) dadb, ¢, d

(2) daa, b, c
@) ddda, c,d
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For the MN-blood group system, the frequencies
of M and N alleles are 0.7 and 0.3, respectively.
The expected frequency of MN-blood group
bearing organisms is likely to be

(1) 42%
(2) 49%
) 9%
(4) 58%
Match the scientists listed under column 'I' with
ideas listed column 'II
Column | Column Il
A. Darwin i.  Origin of life through
chemical evolution
B. Oparin ii. Useand disuse of
organs
Lamarck iii. Mutation theory
D. Hugo devries iv. Evolution by natural

selection
(1) A-i, B-iv, C-ii, D-iii
(2) A-iv, B-i, C-ii, D-iii
(3) A-ii, B-iv, C-iii, D-i
(4) A-ii, Biii, C-i, D-iv
Select the correct statement for supar class pisces
a. Inchondrichthyes claspers are present in male
b. Air bladder regulates buoyancy in osteichtyes

c. Heart is usually two chambered but three
chambered in frog

d. Members of pisces are called true fish
(1) a,b,d (2) Onlya, b
3) @) All

Select the correct statement for sunflower

a,b,c

a. ltis the member of asteraceae family

b. The placenta develops at the base of ovary and a
single ovule is attached to it

c. Asingle leaf arise at each node in alternate manner
d. Ovaryinferior

All

Only b, c, d

(2) Onlya, b, c
(4) Onlya,c,d
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(1) ®adA, B, C
(2) ®aaB, C
(3) ®adA, B, D
(4) ®aaB, C, D
167. qUITIAT & foIg ol IHRUAT &1 T BN
(1) X°Y — quii=y 3reH
(2) XX —dTEd IATGH!
(3) XCXC —quri=er Hfgerm
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168. EI ATHUAT &I TAIT BN
A. fRAEMmIferT - foim o= Jmurd
B. Jeriifar — agdfie e
C. RI® wreaiR — Hoselae fdarR
D. TR RirsM - Avselidd fAaR

(1) |+
(2) HAAA, C
3) A, C,D
@) A B, C
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A. <fiFa ey
B. et EINEN
C. oI Clgil
D. Wall &l &1 Bl BT Yrell T
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Select the correct match
Class Phylum/Division
Mammalia Arthropoda
Insecta Angiospermae

A

B

C. Dicotyledonae Angiospermae
D

Monocotyledonae Gymnosperm

Select the correct match
Amino acid R group

A. Glycine Hydrogen

B. Alanine

C. Serine

D. Alanine

OnlyA B, C

OnlyB, C

3) OnlyA, B, D

4) OnlyB,C,D

Select the incorrect match for colourblindness

(1) XY —colourblind man

(2) XCX—carrier man

A methyl group
Hydroxymethyl group
Isopropyl group

N =
- =

(3) XCXC - colourblind women

(4) XY —normalman

Select the correct match

A. Haemophilia— Sex linked recessive

B. Thalassemia— Genetic disorder

C. Cysticfibrosis — Mendelian disorder
D. Turner syndrome —Mendelian disorder
(1) Al

(2) OnlyA, C

3) A C,D

@4) AB,C

Select the correct match for mendel experiment

~

Recessive
Terminal Axial
Round Wrinkled
Tall Dwarf

. Green colour of pod
1) AB,C

2) B,C,D

3) OnlyB, C

4) All

Dominant

o0 w >

Yellow colour of pod

(
(
(
(




170. Uefrg dgaa @ frarfaeh & awed & a@f

171.

172.

173.

HIT BT TIT B

A. SHD YHIAW Haal BT DIREBT & STRY

CNS gRT |aHhd Aol o9 9 8l &

B. df*dT FaY ATdhietdr # fhar fava e dwar
=

C. Ca" &R & 93Iail A Qe T W S+ &
JU $hTs I DI ¢ g7 © |

D. Ufded & fore afsha werat &1 g1 foharefier &
ST ®

E. ATP fASiellaRor & Sofl &l SUARTT B hid
Ag BT Ffor

A T Aeeal ¥ 4 G99 SUYF ST Bl

TIT BN

(1) dad B, C3IR E

(2) dad C, D3ARE

(3) dad A3MRD

(4) @act B,D3IRE

qIRa= & fawg & w1 HUe Tod B |

(1) I BIC AHR & AT H IR IS MHR B TR

TP B GhdT &

2) I8 Safed # dHg foharperal & off 81 Fobar &

(3) TE IR erar R 8 Ahal 2

(4) $H ol yare B HrE M €| AfGT dNd

dcdl BT gAdehoT T8l

- B G I e W

-1 il
A, gD IR | =g
B. fgciiae Suvre Il 3R
C. urNfAe SuwIaRiT . wfsar
D. Ui IcTadh \YARCER)

& W™ fap d 4 98 SR & AT BN
(1) A, B-ll, C-Ill, D-IV
(2) A-lll, B-IV, C-II, D-|
(3) A-lll, B-Il, C-IV, D-|
(4) A-ll, B-ll, C-IV, D-|
TAd STTHUAT BT TAT BN

OESEEESERI - TATSRIIR
THeh e

(2) RIFRID 37 - TATEHIAR

(3) OAA - Hed db

(4) 3-BPRBINTARD - TelTgpIfeIRd
T

170. Select the correct statements regarding
mechanism of muscle contraction :
A. ltis initiated by a signal sent by CNS via sensory
neuron.

B. Neurotransmitter generates action potential in the
sarcolemma.

C. Increased Ca* level leads to the binding of calcium
with troponin on actin filaments.

D. Masking of active site for actin is activated.
E. Ultilising the energy from ATP hydrolysis to form
cross bridge.

Choose the most appropriate answer from the
options given below :

(1) B, C and E only
(2) C,DandE only
(3) Aand D only

(4) B, D andE only

171. What is incorrect statement about ecosystem? :

(1) It can vary from small sized pond to large sized
sea

(2) Itmay be anthropogenic in origin
(3) It may be temporary or Permanent

(4) It involves the function of flow of energy but
not recycling of nutrients

172. Match List-l with List-ll:

List-I List-lI
A. Tertiary consumer I. Grass
B. Secondaryconsumer |l. Lion
C. Primary consumer . Wolf
D. Primaryproducer IV. Goat

Choose the correct answer form the options given
below:

(1) Al B-II, C-lll, D-IV
(2) A-lll, B-1V, C-II, D-I
(3) A-lil, B-Il, C-1V, D-I
4) A-ll,B-I, C-1V, D-I

173. Select the Incorrect match

(1) Dihydroxyacetone - Glycolysis
Phosphate

(2) FumaricAcid - Glycolysis

(3) OAA - Krebs cycle

(4) 3-Phosphoglyceric - Glycolysis

Acid




174,

175.

176.

177.

TAd STTHUAT BT TAT BN
(1) TR ey - 99 Y Bl ARRT
PR Tl Ufuefiferam
BT T 3fTeld

2) diffe - g H AR

(3) BB Iy - gHrSeH

(4) ATSCIBIST g D H HpIhSl

Wﬁuﬁzﬁmﬂ'ﬁ%maﬂwaﬁ

(1) Ui # fedl ff aRE &1 et & aRerH
¥IwY SURad gidr 2 |

(2) DNA TR %R DNA Ulcl"RSl qgad ®l dHae
TEH Qe 5 3 B IR IART FHRaT ®

(3) DNA @1 Ul d BIfRTenT fawTsT =1sh B!
FATfaT ST | Bl ®

@) T

3 ey T < = §

DY -1:

arel & fog ugel &l T aHfiavr § ddd el ddel

JMHIRDT 0l BT IYANT fobar T S o ufeaat

DI Y, T, TAT 3R 3Tapfr

DYd -1l :

UTqfad RTdER0T T Siidl 9 UTdhfad FHew e

qr8g IO & A1 — A1 AN 0T, S IRTAREHT,

TATCHI, YOS iR Urey AT & R UR bR

T3 T |

T iy el § ¥ w98 S g+

(1) TFT $UF 1 3IR HAF |1 7T 2 |

(2) BUF | e TR B I TeAd B |

(3) P 17T & IR B || H2l 3 |

(4) BT PAT 1 3IR B 11 FE B |

3 ey T < = §

DY -1:

T H 7R 3IR AGT THMICIdTge &7 W=l Jaa—oiar

IRTT BT 7 |

DYd -1l :

UTg H R 3R AIGT ICIBIgT BT W~ qad Sidl

IR &l BT 7 |

T iy el § ¥ w98 S g+

(1) TF $UF 1 3IR HAF |1 7TeAd 2 |

(2) BUF | e TR B I TeAd B |

(3) PUF 17T & W B || H2l B |

(4) BT PAT 13 B 11 FE B |

174,

175.

176.

177.

Select the Incorrect match:

Mucus coating of the
epithelium lining
Respiratory tract
Saliva in the mouth

(1) Physical barrier -

(2) Physiological -
barrier

(3) Cellular barrier -

(4) Cytokine barrier

Select the correct statements for Replication:

Leucocytes
Macrophage in tissues

(1) Any mistake during replication would result into
mutations.

(2) The DNA dependent DNA polymerases catalyse
polymerisation only in one direction, thatis 5’ — 3’

(3) The replication of DNA and cell division cycle should
be highly co-ordinated.

4) All

Given below are two statements

Statement I:

For plants the earliest systems of classification used

only gross superficial morphological characters such

as habit, colour, number and shape of leaves etc.

Statement Il :

Natural classification systems were based on natural

affinities among the organisms and consider, not only

external features, but also internal features, like

ultrastructure, anatomy, embryology and

phytochemistry.

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect

(2) Statement lis correct but Statement Il is incorrect

(3) Statement lisincorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

Given below are two statements

Statement I:

In Sphagnum male and female gametophyte are

independent free living existence.

Statement Il :

In Pinus male and female gametophyte are not

independent free living existence.

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect

(2) Statement lis correct but Statement Il is incorrect

(3) Statement lis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct




178.

179.

180.

1 few U o BN ¥
DY -1

Bl e & 918 U URYFd 312fdT UehT GaAT AVSIRRI
Il 2 |

DY -1l :

T UBR B el H Belial dredhetiae], Feghetfal
IR ITHANH F e w9 I faufed gt ® 1

= foy fAeedi & 9 98 S gH
(1) T U 18R BT 11 7TeAd 2 |
(2) BUF | e TR B I TeAd B |
(3) P 17T & IR B || H2l 3 |
(4) BT PAT 1 3IR B 11 FE B |
= g U & A F

DY -1:

Ulell 3frdT geHsldl © A W, JAMHIND! Weq Bl
I HAd Siidl BT I18g FAT AT 9187 fawrT arel
B P I 2 |

DY -1l :

Sgall H UACHl e BT SUANT URERS wY A
TIRD 3T BT MBIRDT BT A 2 |

T iy el § ¥ w98 S g+

(1) T U 18R HAF 11 7T 2 |

(2) HUF | e TR B I TeAd B |

(3) PUF I7TAd & IR B || H2l B |

(4) BT PAT 13 B 11 FE B |

= g U & wRE €

DY -1:

DR IUBAT § HIRIGR FE=aT H U BT g3 A
RPN Aoy & a1 el 2 |

DY -1l :

AR fr ergs gME Fifad R B |

T iy el § ¥ w98 S g+

(1) T U 18R BT 11 7TeAd 2 |

(2) BUF | e TR B I TeAd B |

(3) HUF 17T & IR B || H2l B |

(4) BT PAT 13 B 11 FE B |

178.

179.

180.

Given below are two statements
Statement |I:

Fruits is a mature or ripened ovary developed after
fertilisation.

Statement Il :

In all types of fruit pericarp is clearly differentiated into
epicarp, mesocarp and endocarp.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lisincorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |I:

In case of plants or microbes the term morphology
precisely means only the study of form or externally
visible features.

Statement Il :

The word anatomy conventionally is used for the study
of morphology of internal organs in the animals.
Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement lisincorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Given below are two statements
Statement |I:

In cuboidal epithelium the cells are compactly packed
with little intercellular matrix.

Statement Il :
The salivary gland is secrete peptide hormone.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect

(2) Statement lis correct but Statement Il is incorrect
(3) Statement lisincorrect but Statement Il is correct
(

4) Both Statement | and Statement Il are correct
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[NCERT XI--59]

gfdh 3MeH Uee & e ReR § 3rd: IdT A
TRT 1 m/s?. B |

IR GRUM 9 = m a =55 x 1= 55N
[NCERT XI--27]
[NCERT XI-11-226]
U 9199 g+ & fdg W K =0 37
E=1=U=(1/2)k x2
k=0.05, TET TR x2=4 3R x = +2 YT &I 2 |
[NCERT XI-1-95]
[NCERT XI--242]
[NCERT XI-11-281]

g JURAfRTT &l 3 A B v SFHATIUTI
BT |

[NCERT Xil-I-23]
E = A
’ 2me,r
EZEX A _ 24
2 277801" 477801”
A G- N 89 U 2
9
9X104=2><9x102xﬂ,
2x10”
9x10*x2x1072
A= 5
2x9x%x10
=107 Cm™

[NCERT XlI-I-112]
I8, n=100,r=8cm =8 x 102 m
AR 1=040A
B IR FEDIY & B

M, 2min 1077 x2x3.14x 0.4 %100

B=—2.
Az r 8x1072

=3.1x107*T

1.

)

@
)

M
)
@)

@)

@

[NCERT XI-1-59]

As the man is stationary with respect to belt, his
acceleration is also 1 m/s2.

Net force on him =m a =55 x 1= 55N
[NCERT XI-1-27]
[NCERT XiI-lI-226]

Since paticle is at turning point, K = 0 therefore
E=1=U=(1/2) k x?

putting k = 0.05, we get x2=4 and x = +2 and
=-2.

[NCERT XI-1-95]
[NCERT XI--242]
[NCERT XI-11-281]

The frequency remains the same , A will be
proportional to speed v

[NCERT XilI-1-23]
Electric field are due to infinite line
A

2me,r

charge, E=

2 A 22
E =—X =
2 2me,r  A4ne,r

o

putting the values, we get

2x9%x10° x A
2x1072
9x10*x2x107>
A= -
2x9x%x10
=107 Cm™

9x10* =

[NCERT Xil-I-112]
Here,n=100,r=8cm=8x 102 m
and [1=0.40A

The magnetic field B at the centre,

g Mo 2rln 107 x2x3.14x0.4x100
4 r 8x107?

=3.1x107*T
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[PYQ Modified]

Iel fdg P o= & <If 3R 8, o I8 il
G DI IRE BRI BT |

TG T B YW u=12cmze |
ST o B BIHT g f=+20cm B |
S BT FHIBRYT STIRT PR WX |

1 1 1 1 1
=

1
vou f v 12 20
1 1 1 345 8
. R

y

20 12 60 60

20 12
Scm

3T §oT ol & aIfel 3R 7.5 WAL B T W
it g |

[NCERT XIi-11-266]
A =500 nm
=500x10°mD=1m,n=1,x=25mm
=25x10%m

nDA
X =

d
a,_nDﬂ,_1><1><500><10_9
Cox 25x107

=2x10*m=d=02mm

[NLI Expert]
v=4/2gH
P mv m2gH
= lo H?
[NCERT XII-1-297]
BISRIo 1 TRE WA & fofg
2
r =031
Z
ST g & foly

[NCERT Xil-l1-233]
[NCERT Xi-11-280]

[NCERT Xi-11-170]

T IR TR & 77 g R BRI YT | 37T G
¥ gurd] e L2 o |

10.

1.

12.

13.
14,

15.
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)

@)
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M

[PYQ Modified]
Here, the point P is on the right side of lens
acts as a vertual object.
Given, distance of object from the lens
u=12cm
Focal length of convex lens f = +20 cm
Using Lens formula,

1 1 1 1 1 1
___:—j———:—
v ou f v 12 20
l__ i_3+5_£
v 20 12 60 60
v=T75cm

Thus, the beam converges on the right side
of lens at a distance of 7.5 cm.

[NCERT XiI-11-266]
A =500 nm
=500x10°mD=1m,n=1,x=25mm
=25x10°m

nDA
X =
d
J= nDA 1x1x500%x107°
x 2.5x1073

=2x10*m=d=02mm

[NLI Expert]
v=4.2gH
aoh_h b
P mv m2gH
j ﬂva—]/Z

[NCERT XII-11-297]
For a hydrogen like atom
2
r =053
Z
For (ground state)

[NCERT Xil-l1-233]
[NCERT Xi-11-280]

[NCERT Xi-11-170]

The self-weight acts at the center of mass of the
wire which is middle point. Thus in
formula we will take effective length as L/2.
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[NCERT Xil-11-276]

T3 Mgfcd <gel Agfcd | BICI 2, 31d: DI THI
JgId UMTd RN BT | AR UBTT GIRT I 81 |

[NCERT XI-1-63]

[NCERT Xi-lI-253]
[PYQ Modified Manipur 2022]

1 Y
i=gxXnN=gx—=Qqx—

T 2nr
[NCERT XII-I-71]

QﬁWWﬁWe—C1X120+CZXZOO

C,+C,

[NCERT XI-1-73]

BRI Holl THT T BN |

W = {[v(x 2)f ~[v(x=0) ]}

[NCERT Xi-11-248]

\/3RT _ \/3R(273 +20)

39 4
T=2.85x10°K
xpe
[NLI Expert]
L L
S L .
4 4 1(@D)y b7
Ra_3
R, 1

[NCERT-XII--29]
e=—2_ o 1)[2t-6]

319 RRTT BN of |
[NLI Expert]

W =AU = SC(V; - V)

2 _ 402
W 15219 125 Sy g erw
W 10°-5 " 75 3

[NCERT-XII-I-117]

R_m_V_\/ZKm \/,
"~ gB B Reeyk
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17.

18.
19.

20.
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22,

23.

24,

25,

26.
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@

U

(1)

M

4)

@)

[NCERT XliI-lI-276]
The new frequency of light is (1.5/2) =0.75 times
the threshold frequency and which is
less than it. hence no emission will take place and
photoelectric current will be zero.

[NCERT XI-1-63]

[NCERT XiI-lI-253]
[PYQ Modified Manipur 2022]
i=gxn=qgx l =
a a - ax 2nr

[NCERT XII--71]

C,x120+C, x200
C,+C,

Use the formula ¢ =

[NCERT XI-1-73]

use work energy theorem

W = —m{[v(x 2)f ~[v(x=0) ]}
[NCERT XI-Il-248]

\/BRT or \FR(273+ 20)

39 4
Gives T=2.85 x 10°K
[NLI Expert]
=p = =p -
A= P N2 B —
D T 2 2
—[(2D)  -D
4 4[( ) ]
Ry, _3
R, 1

[NCERT-XII-I-29]

e= _d—qt’ = —(0.1)[2t-6]

Now sketch.
[NLI Expert]

1
W=Mb5q%—W)

2 _4n2
W, 15 219 125 Sy 167w
W~ 10°-5 75 3

[NCERT-XII-I-117]

_mVv \/2Km

" gB B

R o VK
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29.
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31.
32,

(3) [NCERT-XII-I-112]

ﬁ2(5_2'5) _ My
4z 2.5 2%

3) [NCERT-XI-II-233]
—20—(-8)=U,-30 u,=18J.

) [NCERT-XII--154]
URT MY Fefadd & IR TR ¥R var g, I
TR 8]

@ [NCERT-XI-I-59]

S=15x 10+ 1600250
- 2 1400

x 102

1350 25
=150+-—-=150+— = .
514 5 162.5 m

) [NTA]
3) [NCERT-XI-I-15]

v, =36kmh™" = 36x % =+10ms™
vy =+54kmh™" = +54><% =+15ms™

v, ==54kmh™" = —54 x i =—15ms™"
¢ 18

CHl I AD ATUY
Vea =Ve — V4 =~15-10=-25ms""
. UR B B T C & gRT foram S dTelt wHA |

_lkm _ 1000m

A 1
25ms”

—40s

Vea

Vg=54 kmh™ V,=36kmh" Vv _=54kmh’
B> AL +>» <« ]C
l——1000 m —¢—— 1000 m —{

SHCHT B 1 8 & oY B BT 40 AHUS I Ugcl AP
UR R ol ARy |

Vg =Vy —v, =15-10=5ms""
s =1km=1000m,u =5ms™",t =40s

1 5
A, S=ut+5at

1
1000=5><40+5a><(40)2

3R 1000=200+800a or a=Ilms™>

27.

28.

29.

30.

3.
32,

(3) [NCERT-XII-I-112]

Mo 2(5-2.5) _ Mo
4 2.5 2n

(3) [NCERT-XI-II-233]
—20-(-8)=U,-30 u,=18J.

4) [NCERT-XII-I-154]
Induced charge depends upon change in flux, not
the speed.

(2) [NCERT-XI-I-59]

1600-250
= - x10?
S=15x10+ 5400 *
1350 25
=150+ —-———=150+— =
514 5 162.5m

(3) [NTA]

(3) [NCERT-XI-I-15]

v, =36kmh™ = 36x % =+10ms™
. 5 -1

vy = +54kmh :+54x§=+15ms
: 5 -1

Ve =—=54kmh ~ =—-54x Th —15ms

Relative velocity of C w.r.tA,
=ye—v,=-15-10=-25ms™"
Time that C requires to just cross

Ve _ 1000m

Vea

= — —40s
Veu 25ms
V,=54 kmh" V,=36 kmh ' V=54 kmh
B |—> A |—> <—| C

f[¢——1000 m —>¢—— 1000 m —

In order to avoid the accident the accident, B must
overtake Ain a time less than 40 s. So, for car B we
have

Relative velocity of car Bw.r.t. A,
Vay =V =V, =15-10="5ms™"
s =lkm =1000m,u =5ms ™"t =40s

A S=ut+ ! at2
S, = =
2

1000=5><40+%a><(40)2

or  1000=200+800a or a=Ilms™>




3. (2 [NLI Expert] 33. (2 [NLI Expert]
34, (4) [PYQ Modified] 4. (4 [PYQ Modified]
35. (3 [NLI Expert] 35. (3) [NLI Expert]
36. (4) [PYQ Modified Jhajjhar] 36.  (4) [PYQ Modified Jhajjhar]
37. @ [NLIExpert] 37. (3) [NLI Expert]
TR 3mad iy # Rerfast o Potential energy of simple harmonic oscillator
1 2.2 1 DD,
L P ——
S M’y S Me’y
Eﬁmy_i PE—lmwzi for —E PE—lmOfi
B M ory=gptETme Y
=>PE=_(1m032.azj=E —PE= Y 1metat |=E
2 4 2 4
38. (2 [NCERT-XII-I-334] 38. (2 [NCERT-XII-I-334]
MRS § SRS FT gfoRiy Mgl a1 2 | In forward bias, resistance of diode will be zero.
. ViV, =VA_VB
TR R
_4-(-6) _4-(-6)
" 1x10° 1x10°
.10 ~ 10 _
I:F:']Ozamp I:F:']Ozamp
39. (2 [NCERT-XII--100] | 39. (2) [NCERT-XII-I-100]
5_ R 5 R
7, 1001, —(1) 7. 100-7, —(1)
g od & By second condition
5 R/2 5 R/2

160, 100-1.6¢, (2

1 2(100-16¢,)
"~ 100-1.6¢,

1.6x100-1.6 ¢, =2(100 —1.67,)
0.8x100-0.8 /,=100—1.6 ¢,
0.8 £, =100 x0.2

0, =25

5 R
byeq(1) ——=-= = R=150hm

25 75

160, 100-1.6¢, (2

5 _ 2(100-16¢,)
100-1.6,

1.6%x100—-1.6 ¢, =2(100 —1.6,)
0.8x100-0.8 ¢,=100—1.6 ¢,
0.8 ¢, =100 x0.2

0, =25

5 R
byeq(1) ——=-= = R=150hm

25 75
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[Experimental skills]
R, 2v
~¥vnn 1f§ [) ‘3f§ =||= E;
1A 1AY
RE $20 $2A

I ——_i—
1V 1A C 2A

o # wefRig uRuyr § fvars &1 | v w®

1Awr'_'|'}_°B

A
YWVWWy
N
o)

1A
Ao—i||}——>—-c
1\

SV +1+2(1)=2=V,

0+1=V {-- V,=0V (Given)}
V, = +1V.
[NLI Expert]
[Experimental skill]
(H)Prism = \/E

IS @1 BT (A) = 30°
0T 3roe Ut BT G At a7 dral @l T8
ATE R A=ad US |

=i,=0=r,=0 r,=A=30°
(sini _u_z]

sinr M)t st face

s.|n | =£:sini1 =+/2 xsin30°
sinr, 1

- 1 . 0

sini, =E:> i, =45

[NCERT-XII-1I-297]
[NCERT-XI-I-59]

1mv12 +%Mv§ =mgh

mv, + Mv, =0 where 5

m

Vv, =- MV, So, %m(—
m

2
Mvz) +1MV§ =mgh
2
2
vl = (%+Mj 2mgh

y 2mghm _m \/2Mgh
2 MYM+m

M(M +m)
[NLI Expert]
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[Experimental skills]

20 42A

i
AAA
YYYWWy
AAA

| | MM

1A Cr 2A VWV

Applying Kirchhoff voltage law in the circuit as shown
in the figure below.

2
1AF"_'M—°B

MM
\AAALLS
!Eg

Ae—| AL

SV, +1+2(1)—2=V,

0+1=V {- V,=0V (Given)}
V, = +1V.
[NLI Expert]
[Experimental skill]
(M)Prism = \/5

Prism angle (A) = 30°

Retracing path take place
when ray fall normaly to silvered surface

=i,=0 r,=0 r,.=A=30°
(sini_&)
sinr U At first face
ik =£:sini1 = /2 xsin30°
sinr, 1
Sini, = —— = | = 45°
1 \/E 1

[NCERT-XII-I1-297]
[NCERT-XI-I-59]

1 1
mv, + Mv, = 0 where Eme +E|\/|V§ =mgh

2
v, My, So, %m(—Msz +%I\/Iv§
m m

=mgh

2
Vi = (MHJFMJ =2mgh

y 2mghm _ \/ZMgh
2 A MM+m) M+m

[NLI Expert]




CHEMISTRY

46. (1) [NCERT-XI-18] | 46. (1) [NCERT-XI-18]
Elements moles Simple radio E.F Elements moles Simple radio E.F
€ 40 3.33 \ ¢ o 333 1
12 12
H 858 666 2 CH,0 H Llﬁﬁ =666 & o
o B4_s4 0 204533
16 1 16 1
47. (4) [NCERT-XII-121] | 47 ) [NCERT-XII-121]
I 3R ESIoTT < CN- 5 9 TRl & Both carbon and nitrogen can work as donating
3 site in CN- hence it is an ambidentate ligand.
48. (2 [NCERT-XIl-76] | 48. (2) [NCERT-XII-76]
te,, = 0693 .. 0693
12 =", 12 ="
0.693 0.693
=———=234.65s = b
0.02 ™ 34.65s
49. (2) [NCERT-XII-240] | 49. (2) [NCERT-XII-240]
(C] .
OH  —asi—> CHI, + CH,CH,COO Na® OH b CHI, + CH CH,COONa®
50. (1) [NCERT-XII-109] 50. (1) [NCERT-XII-109]
Long Radii(pm) Long Radii(pm)
Nd* 9 N+ 99
3+
Ib 3 2? T 92
51 4 ) Practical Chemist T o
. ractical Chemis
@ [ vl 51. @) [Practical Chemistry]
(CH,),C-OH —2% 5(CH,),C~Cl = o
Immediate sturbidity is because of the formation of (CH, ), C—ClI (R, C~OR — O}, 6~
Immediate sturbidity is because of the formation of (CH, ), C—ClI
OH OH
B, Br OH OH
& TB;%’ (white precipitate ) © & Br, Br
- Ta:n%’ {white precipitate )
Br
CH,CH,CHO —#0™)] oo
Ag(sliver mirror) + CH,CH,COO" CH\CH,CHO—*C0 L,
B Ag(sliver mirror)+ CH,CH,COO~
. é—. Red colouration in Victor Meyer's Test o
. — Red colouration in Victor Meyer's Test
52. (4) [PYQ Mod.]
52. (4) [PYQMod.]
ZnO-Crp0O3
——— a2
CO+2H; —00-300 atm ~ H3OH CO +2H, —2ZN0-C03  ~h oH
573-673K 277200-300 atm 3
573-673K
53. (1) [PYQ Mod.]
53. (1 PYQ Mod.
iy oIk T P () [ ]
Order of acidic strength is
Fratfaferd (RIS > Al > redhigd 9
Carboxylic acids > Phenols > Alcohols




54. (1) [NCERT-XII-291]
R UF ol AT o ® aifes ¥
~COOH W¥g! &1 el H —-NH, gl & e
AfeH Bl 2
55. (2) [NCERT-XII-293]
DNA #, C ¥ gggIo §¢f g1 G 9 JSal ¢ |
56. (1) [NCERT-XII-37]
E=E° = —@IOQQ
n
57. (3) [NCERT-XII-169]
Compounds B.P. (K)
Cl 453
t CI
Cl 4486
@,
cli 448
;I
58. (1) [PYQ Mod.]
69. (2) [NCERT-XI-51]
h 6.626x 107 Js
Av= A7) :
wmhy 4% X 9.11x10 kg x 10 m
60. (3) [NCERT-XII-132]
Aocc
_ 4 _
UO aur
61. (2) [NCERT-XII-5]
nSDIuIc'
Solute — n.mlulc' + nSonnl — n.mlutr
XSIJIW!II nSal veni solvent
n sodute + n.wh-vm
Molasity = number of moles of solute

Volume of solutionin litres
ara: faded (1) &R (4) w2 &
62. (1)
llh o< I"I2
63. (2)

[NCERT-X1-47]

[NCERT-XI-91]

FARI B FEUTHD SAdeid o Tl TR
I HH B & Sdfh dIRIA ¥ e 8l 2

54. (1) [NCERT-XII-291]

Lysine is a basic aminoacid as it has more number
of —NH, groups than —COOH groups.

55. (2) [NCERT-XI1-293]

In DNA, C joins with G by three hydrogen bonds.

56. (1) [NCERT-XII-37]
E—E®=_ 0.059 logQ
57. (3) [NCERT-XII-169]
Compounds B.P. (K)
Cl 453
t Cl
=T 246
QL
Cci 448
;I
58. (1) [PYQMod.]
59. (2) [NCERT-XI-51]
h 6.626x 107 Js
Av= -=—
AmAx 4x'—_;x9.llx10_"kg><10_“m
60. (3) [NCERT-XII-132]
Aocc O
_ 4 _
U, = 6 t
61. (2) [NCERT-XII-5]
nSo!uh'
Solute — n.w.‘u!e' + nSm'wnl = n.m!urr
XSJ::!wnI ns"l vent na'm’vml
niululr' + n.mlwnl
Milesity = number of moles of solute

Volume of solutionin litres

So, option (1) and (4) are correct.
62. (1) [NCERT-XI-47]
My o< n?
63. (2) [NCERT-XI-91]
Negative electron gain enthalpy of fluorine is less
than chlorine while is more than the chlorine.




64. (2)
C(s)+CO,(9) = 2CO(g)

[NCERT-XI-180]

(10Pco, )2

65. (4) [NCERT-XII-100]
Pbi, ReR =&l 2.

66. (2) [p-Block]
ATSCIO +5 JATRITHROT AT Yefid Har B,

Afhe UeRdigs =81 991dT 8, Hdifh s9H d-

IR F 3 9¢ I 2 |
67. (4) [NCERT-XII-276]
PhNH, —"%" PhN; —™s PhN; (BF,) —-Ph-F+ N, + BF,
68. (1) [NCERT-XII-18]
AT =imK,
HAM m 3R K& FHEN S g
AT o i
ForCH,,O; = alui
KCl = i=2
Na,SO, = i=3
ALSO, = i=5
AT | TefpISl B ol § Sl AT, S forg
=AaH BT SR fHie fdg ot & forg
BT BT |
69. (3) [NCERT-XII-24]
n=CRT
T4 =To
20 10 x 1000

60x1_ Mol wt(g) x 100

600
HIR SIHTT B = T 300 g/mol

70. (3) [NCERT-XII-46]

A2 CH,COOH = A2, CH,COO™ + A% H*
= A% CH,COONa+ A° HCI — A%, NaCl

—z+y—x

1. (3 [NCERT-XII-69]
3X =k [NOJBr,]

72. (2 [NCERT-XII-79]
IR FHIBRT BT WA fhar ST B

64. (2)
C(s)+*CO,(9) = 2CO(g)

[NCERT-XI-180]

(1 OPco, )2
Pco,

=60

65. (4)

Pbi, is not stable.

[NCERT-XII-100]

66. (2) [p-Block]

Nitrogen exhibits +5 oxidation state but does not
form pentahalides because it does not have d-

orbitals to expands its covalence beyond four.

67. (4) [NCERT-XII-276]
PhNH, —"%" PhN; —™s PhN; (BF,) —-Ph-F+ N, + BF,

68. (1) [NCERT-XII-18]

AT =imK

For the solutions of same m and K.

AT o i

ForCH,,O, = i=1

KCl = i=2

Na,SO, = i=3

ALSO, = i=5

Minimum i is for glucose so AT, will be minimum
for it and freezing point will be maximum for
glucose.

69. (3)
n=CRT

[NCERT-XII-24]

T4 = Mo

20 10x1000
60x1 Mol wtg)x100

600
Molar mass of B = N =300 g/mol

70. (3) [NCERT-XII-46]

A2 CH,COOH = A% CH,COO™ + A% H*
= A% CH,COONa + A%, HCl — A°, NaCl
=zZ+y—Xx

7. (3)
Rate = k [NOJ[Br,]
72.  (2)

[NCERT-XII-69]

[NCERT-XII-79]
Arrhenius equation is to be employed.




73.

74,

75.

76.

77.

78.

79.

80.

™

™

(4)

(4)

@)

(@)

@)

@)

[NCERT-XI-130]
Species Bond Order
(a) 0; @ [25
(b) o5 (i) | 1.5
© o (i) |1
(d) o, (iv) |2

§¢ ¥ de IR §¢ ofdg gl 2

[NCERT-XI-111]
o 0
AN D
[PYQMod.]

geol SIffhaT TF |1 H HIa URATS drel
AT Todhe TR R & folv Iuanfy 2|

[NCERT-XI-154]
1 1
~ A, +-B, > AB
2 72
ArI-I = Z BER::J(' tant Z BEprnducr.s'
1 a+ ll;v —c
2 2

A H :—+£)-—c
2

r

[p-Block]
ST g™ vMIa & BRT TI Gk +1 ATaiTaRoT
37qRRAT # U AT B |

[PYQ Mod.]
Cr,(50,), = Na, C{Q

YT URHATY Cr & iTaRATRROT 3wt H gRacd= =
3
9fd Cr,(SO,), d &1 Cr URAY &, ST Selag i+l
T el TR AT Pl IR = 3x2= 6
Cr,(SO,), &1 Tadd 4R = M/6
[NCERT-XII-46]
Uae faea e Ay s Jc @ o0 & arer
FUMEHD TAT dlell T el Y@ 2|
[NCERT-XII-125]

[Co(NH,),J[Cr(CN),] FH~<T AT <31 Fehel]
2

[Fe(H,0), CI|Br 3T AHTGFd ST Hehall &
[PtCI, (NH,),] SITFRAT HTeaagdr g1 depal &
K, [Co (OX),] TebTeia |aTggedr &2 Hebdl 8

73.

74,

75.

76.

77.

78.

79.

80.

M

M

@)

@)

@)

(@)

@)

@)

[NCERT-XI-130]

Species Bond Order
(a) 0; @ [25
(b) o5 (i) | 1.5
© o (i) |1
(d) o, (iv) |2

Bond length decreases as bond order increases.

[NCERT-XI-111]
o 0
1) )(/:ﬁf 2) F//E-Z\F
[PYQMod.]

Wourtz reaction is useful to prepare symmetrical
alkanes with even number of carbon atoms.

[NCERT-XI-154]
1 1
~ A, +-B, > AB
2 72
ArI-I = Z BER::J(' tant Z BEprnducr.s'
1 a+ ll;v —c
2 2

A H:£+£)——c
2 2

r

[p-Block]

Tl predominantly exists in +1 oxidation state, due
toinert pair effect.

[PYQ Mod.]

Cr(50,), —)N(@C:’Q

Change in oxidation state of Cr per atom = 3

As there are two Cratoms in Cr,(SO,), so the total

changes or total transfer of electrons = 3x2 =6

Equivalent weight of Cr,(SO,), = M/6
[NCERT-XII-46]

The plot of R v Jc for strong electrolyte is a
straight line with negative slope.
[NCERT-XII-125]

[Co(NH,).JICr(CN),] can show Coordination
isomerism

[Fe(H,0), ClIBr can show lonisation isomerism
[PtCI, (NH,),] can show Geometrical isomerism

K, [Co (OX),] can show Optical isomerism




81.

82,

83.

84.

85.

86.

87.

88.

89.

90.

(4)

@)

@)

M

M

M

@)

@)

@)

M

[PYQ Mod.]
aEE A gig & e SR iR Hwed
ST ifAfshameil @1 &% 98 ST 7 |

[PYQ Mod.]

[NCERT-XI-61]
IYPIYT = 3d
d SUPTY H SoideAT T fSrhdH FRr 10 B |
[PYQ Mod.]
pKa Teq IR 31%eily 3Ifth dedl & | HCOOH &1
pKa A9 e & v, 3oV I8 fA=ferRaa #
A o IR BT |

[NCERT-XI-275]
-NO, - -R 3R - g9
~0- - +R 3R + y91G
~O-CH, — +R &R -l 791
—CH, — +| U¥T4.
[NCERT-XI-304]

CH,~-(CH,), - CH, —5%40 _, C [ —2

4 773K /10-20atm

C,H Br —%— C,H MgBr —> > C,H,

[PYQ Mod.]
NH,
? 3 g
® + CH,—C—0-C-CH,—>CH,-N-C-CH,
Ethanoic anhydride ’!1
(X) N-phenylethanamide
Aniline

NH,

NC
. @ + CHCI, + 3KOH —>—» @

RS vffem & aifde ek & Jifes vHfor
# A BT Tl g favenfiq grar 2 |
[Examplar]
CH,

H;C——C——CH;

CHj
[PYQ Mod.]

Na/dry ether,
cl —O—Bf:ﬁﬁ;—" 'O’-’ e

-NaCl Intermediate Major product
[PYQ Mod.]

BRI Udh U HeA 7, SAfTY =shig ufehar & forg
IRT AE BN STafds Ay Tt Jraven wet € |

81.

82,

83.

84.

85.

86.

87.

88.

89.

90.

4) [PYQMod.]

Rate of both endothermic and exothermic reaction
increase with increase in temperature.

(2 [PYQMod.]

(3) [NCERT-XI-61]
Subshell = 3d
Maximum number of electrons in d subshell is 10.

(1) [PYQMod.]
Acidic strength increases as pKa decreases.
HCOOH has least pKa value so it will be strongest
acid among the following.

(1) [NCERT-XI-275]
-NO, —»-Rand - effect
-0~ — +Rand +| effect
—O-CH, — +Rand -l effect
—CH, — +l effect.

(1) [NCERT-XI-304]

Cr0,/ 45,0,
773K /10-20atm

Br,/FeBr,

>C H >

CH,~(CH,),~CH,

C,H Br —%— C,H MgBr —> > C,H,

(2) [PYQMod.]
NH,
i 7 T
- +CH; -C_O-C-CHJ—*cﬂHi.-l N-C-CH,
Ethanoic anhydride |!|
(X) N-phenyethanamide
Aniline

NC
. @ + CHC, + 3KOH —>—» @

* Pyridine is more basic than aniline because in
aniline the lone pair of nitrogen is delocalized.
(2) [Examplar]
CH,

H,C——C——CH,

CH,
(2) [PYQMod.]
a—Ce e o s &S
~NacCl Intermediate Major product
(1) [PYQMod.]
Work is a path function, therefore will not be zero

for a cyclic process whereas rest all are state
functions.




9.

92

93.

94,

95.

96.

97.

98.

99.

BIOLOGY
91.

(1) [NCERT--115to 118]
DY -1 :

JNRNE BT & SR T=igH 3R H dig
geellg w8l 81T & |

DY -1l :

EHB TrollsH H U A4 YIS 3fadd FEHRD HectIdl
2| TolTsH ¥ deId T~ollgH Bl ARG ®d I Afhd
ERIGI

3) [NCERT-I-100]
rRNA - & H f3reet 2 dadhsal IRaHT T
AT & oIy weret Bl § |

7)) [NCERT--89, 90]

ST TeS FhIF T DNA — GaelIdh 37 dhact
70 S TSI Y@ dTel U Siid H SuRerd @

(2) [NCERT-I-126 to 128]

SR e |1 & q1e, Uar g3 gAl SIferel &
U Bl ©

(2) TS FHSG DI o H DNA @I 73T &I T
@ [NCERT-I-106, 107]
GRWBIIUE — BT AT i1l BT 9= sraa
g

@ [NCERT--94]
I f3reell & JIR—UR Ay R Hfspy uRagw
& 419 =T IR B

2) s aRags o1 PIfRTHT fBreell & IR—IR Udh
ATEdT Aol & SToRd Bl & Sidfh Afhd
gRagT # faeld & o™ @& v Sl &)
AMAYIHAT Bl 2 |

(1) [NCERT-II-26]

(1) J¥H ST — FHHD WFTRY - R -
THAS — DIRIGI e ([Age) — BT
favied » Sharafa

) [NCERT-II-33 to 35]
A b D g YRRl H dig W T Yed
faefd &l Bl & Fafe

(4) gETe UraReyT H FSH 3R LH &IF1 &l WR 64
Bl &

(2) [NCERT-II-92]
(2) 5 UACGUACGUACGUAC3S!

92.

93.

94,

95.

96.

97.

98.

99.

(1) [NCERT--115t0 118]
Statement |I:

During the chemical reaction no changed in enzyme
molecule.

Statement Il :

In some enzymes A non protein constituents called
cofactors are bound to the enzyme to make the
enzyme catalytically active.

(3) [NCERT-I-100]

Non-membranous nucleoplasmic structures in nucleus

are the site for active synthesis of rRNA

(2) [NCERT--89, 90]

Double stranded circular naked DNA —nucleic acids is

presentin an organism having 70 S ribosomes only

(2) [NCERT-I-126 to 128]

After meiosis I, the resultant daughter cells have

(2) twice the amount of DNA in comparison to haploid
gametes

(2) [NCERT--106, 107]

Phospholipid — organic compounds is the main

constituent of Lecithin

(2) [NCERT--94]

The main difference between active and passive transport

across cell membrane is :

(2) passive transport requires a concentration gradient
across a biological membrane whereas active
transport requires energy to move solutes.

(1) [NCERT-II-26]

(1) Gametogenesis —» Gamete transfer - Syngamy

— Zygote— Cell division (Cleavage)— Cell

differentiation — Organogenesis
4 [NCERT-I-33 to 35]
No new follicles develop in the luteal phase of the
menstrual cycle b ecause
(4) Both FSH and LH levels are low in the luteal phase
(2) [NCERT-I-92]
(2) 5'UACGUACGUACGUAC 3




100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

&) [NCERT-I-42 to 44]

(1) TUCHA - AH IRR A48
2) |~ - HHRT IR g
(3) STeira Smfued - FATH

(4) Riersed - WHRI IR FAg

(1) [NCERT-lI-169]

qIEd pBR 322 R &1 yufooifds ufeRkel Sie feas

forg g @

(1) TfEaRATel™ 8ik egraTsdel™

@ [NCERT-|I-185]

AT BT gIRT fhdl e 7 S99 Fwf=yd

AR ¥ 99T gaRerd srgHIes & Sid GAEEl B

SYINT HRAT IR BTl 2

(1) [NCERT-I-61]

ARTT | dlel TR HT BIFd FYE dlel HAIGT & A1

fdars 89 H, Ui A1 a1 AB Y& g 3feraT B IEdl

21 e BT 1A (FR) ; 1B 1B (ATGT) AR SiEergy

& AT B |

@ [NCERT--248]

2) A=UISH ;B = U8 C = Ishid AMP

?3) [NCERT-II-134 to 136]

AT & 9N SUTNIG UfaRelm a= 81T &1 o f&

TS DI ST BRar g | bR 1 ST=ota uforen

T o ® 9 R gl o © | [ ug

(3) WEfad OTdaed HIRGR I@ar & i {6 Agshreq
Pl eToT 3R T BT 2 |

(1) [NCERT4-227]
Argefifr e v ww—yferem 9 2 |

1) [NCERT-II-130 to 133]

A. HTSHIERY l. Pdd

B. UrcarHIaT Il grersie
feeifafesr

C. TARKT . S

D. BRIhIHd IV. SigTo]
W

@ [NCERTA-243]

IFT Ca?2 Wk H BHI — IRTITSRIgS IR I IR1emeNss
B BT G IR B o7 IR Bl

?3) [NCERT-II-44, 45]

(3) 1UDs I3 & BIRIGCINGA b TR H g1
g

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

(3) [NCERT-I-42 to 44]
1) Flatworms — General body surface
2) Sponges — General body surface

Gills
General body surface
(1) [NCERT-II-169]

The two antibiotic resistance genes on vector pBR 322
arefor

3) Aquatic arthropods

(
(
(
(

4) Coelenterates

(1) Ampicillin and Tetracycline
(2) [NCERT-II-185]
Exploitation of bioresources of a nation by multinational

companies without authorization from the concerned
country is referred to as Biopiracy

(1) [NCERT-II-61]

In a marriage between male with blood group A and
female with blood group B, the progeny had either blood
group AB or B. the possible genotype of parents is — 1*
i (Male) ; IB IB (Female)

(2) [NCERT--248]

(2) A = Protein Hormone; B = Receptor; C = Cyclic

AMP
(3) [NCERT-II-134 to 136]

Humans have acquired immune system that produces
antibodies to neutralize pathogens. Still innate immune
system is present at the time of birth because it

(3) has natural killer cells which can phagocytose and
destroy microbes

(1) [NCERT--227]

Myasthenia gravis diseases is an auto-immune disorder

(1) [NCERT-II-130to 133]
A. Microsporum [. Fungi
B. Entamoeba Il. Protozoa
histolytica
C. Wuchereriamalayi lll. Animal
D. Streptococcus IV. Bacteria

pneumoniae
(2) [NCERT-1-243]
Fall in blood Ca*2 levels — will stimulate
parathyroid gland to release parathyroid hormone
(3) [NCERT-II-44, 45]

(3) IUDs increase phagocytosis of sperms in the
uterus.




110.

1.

112.

113.

114.

115.
116.
117.

118.

119.

®) [NCERT-I47]
AIDS 3R fatersfes B - 49 FarRa TR fa9y wu
I S I BT GIfAd A8 BT B |

@ [NCERT-1-41 to 45]
(8) MBI (ii)) SPTEASHT

(b) wrgRfer (iv) EeiIger

(c) fU=perer (i) wrermr

(d) =RaT (i) wicreferes

(4) [NCERT-1-43]

TElelled — 9 WER & A1 fguredaafied arer
e |

3)
(@) go AfY

[Old-NCERTH]

(iii) SIBAT BINBN B
JMR—IR RATT BT
R & forg e B
g o ?

T 1T Sirsdl &

dfie fomior & forg
TSIl BIRTHRIN &l
(iv) JMTF—UT BT
PIRERT & 9
RO T STTATT B

& forv ATgerarsiie
I

(b) IS AT @)

(c) o afxr

(d) TsAfted Afkr (il) AT © qeEH W
AT P g
BIRIBIA Bl TR
BT B

@ [NCERT--187]

S & —9elqdd (:2aET & d1e arg ol g8 31t
THaH AT (M) ST Udh fda -39 BHR AT
gl

)

[NCERT-I-199 to 201]
@) [NCERT-I-199 to 201]
() [NCERT-I-21]

uggelt § HedTe; MR Uh BIREH & HRUN Bl 8 T
& s afid w9 & aaiid e <@ @

?3) [NCERT-1-61]
TIeI=aT — T goffa=ay gefRid &xar 2 |
(1) [NMC Syllabus]

SRR — fgarvedl, RIFeTdT svsery <@ ol fAedar
=

110.

1.

112.

113.

114.

115.

116.

117.

118.

119.

)

AIDS and Hepatitis B — sexually transmitted diseases

[NCERT-I-47]

do not specifically affect reproductive organs

(2 [NCERT-I-41 to 45]
(@) Ophiura (iiiy Echinodermata
(b) Physalia (iv) Coelenterata

(c) Pinctada (i) Mollusca

(d) Planaria
4

Annelids are true coelomates with bilateral symmetry
)]

(@) Tightjunctions

(i) Platyhelminthes
[NCERT-143]

[Old-NCERT-I]
(iii) Establish a barrier to

prevent leakage of fluid
across epithelial cells

(b) Adheringjunctions (i) Cement neighbouring
cells together to form

sheet

(c) Gapjunctions Cytoplasmic channels

to facilitate

communication

(d) Synaptic junctions (i) Transmitinformation
through chemical to

another cells

@

The maximum volume of air a person can breathe in

[NCERT--187]

after a forced expiration is known as Vital Capacity
4
4
@

Mad cow disease in cattle is caused by an agent

[NCERT--199 to 201]
[NCERT--199 to 201]
[NCERT--21]

which has Abnormally folded protein
(3) [NCERT--61]
Alstonia — shows whorled phyllotaxy

M

Bicarpellary, Syncarpous ovary is seen in Brassica.

[NMC Syllabus]




120.

121.

122

123.

124,

125.

126.

127.

128.

129.

130.

7)) [NCERT-II-10, 11]

URSTIRTH # YT &1 e AMRI TSR 3

2) T HHIE FAGA AU & 1T YhaToldh

) [NCERT-1I-96]

MFARTE FHe & ARy &1 &1 |l FAo 2

@) feorve, IR—arfaamd, sRaw

3) [NCERT-1I-85, 86]

BY 3R 99 — a=Tie 7 dfdeRards | Rig foar &

DNA & TaAT el uaref &

3) [NCERT-1I-94, 95]

JbRITCH H Fad@ @I yfpar d, RNA

AR | JTetRad aRar € |

(3) rRNAs-28 S, 18 S3iR5.8S

) [NCERT-II-75, 76]

FeATsThee Rmg| — STgdRId afaRem H, ywriad

fdd H I BRI, A foltT ORI XXY Rl &

) [NCERT-II-196 to 202]
HHfe ar=ifshar & fory Wel srgwud 8

(1) TRIeH IR Brer = +3iR-

@ foR v IR AFE@ = +3R -

(3) B AR BraT = +3R-

@) A T IR FIred = +3R0
HWA

?3) [NCERTHI-114, 115]

(3) T (A) 3R (R)WEI B 3R (R), (A) T FET AR
AT 2 |

@ [NCERT--117, 118]

TUITTEH W YRS WHE A gedl W 9 g ®

S HIogd Sl d¥ie 9 99 81d ©

(2 [NCERT--126]

A qafaRer—| & SRS Jawel W IR—FHaTd

TR & IR Gk eFeRE & g gfed gar @

(1) YaTaRe—| & SITRIICIA JTART TR IR—FHSI ORI
& IR Hafd EorE & 4

2) qalaReI—| & SIS Jfavdl W IR—FHAGIT
TOREET & 1R Haid FEogE & 4=

?3) [NCERT--159, 160]

OIS # (ETS) 3q9-11 Solag = gRaeT a-F HIfrdhT H

JM<IRF ATZCIDI VST f3Teell TR Rerd gIar 8

3) [NCERT--145to 147]

29 U4 Tid UrRId ¥, WAfHe CO, UTed Bivhlgrd
RIESSE A

120.

121.

122

123.

124,

125.

126.

127.

128.

129.

130.

@

The most common type of embryo sac in angiosperms

[NCERT-II-10, 11]

(2) Monosporic with three sequential mitotic
divisions

4

the correct combination of salient features of Genetic

Code

[NCERT-11-96]

(4) Degenerate, Non-overlapping, Non ambiguous
(3) [NCERT-II-85, 86]

Hershey and Chase — scientist experimentally proved
that DNA is the sole genetic material in bacteriophage

3) [NCERT-1I-94, 95]

In the process of transcription in Eukaryotes, the RNA
polymerase | transcribes -

(3) rRNAs-28S,18Sand5.8 S
@ [NCERT-II-75, 76]

Klinefelter's Syndrome — each cellin the affected person,
has three sex chromosomes XXY

(2) [NCERT-II-196 to 202]
the correct match for population interactions
(1) Predator and prey = +and -
(2) Liverflukeandhuman = +and -
(3) Cuckoo and crow = +and —
(4) Seaanemone and = +and 0

clown Fish
(3) [NCERT-II-114, 115]

(3) Both (A)and (R) are correct and (R) is the correct
explanation of (A)

)
prosthetic groups are tightly bound to

[NCERT-I-117,118]

apoenzymes while coenzyme is loosely bound
(2) [NCERT--126]
Crossing over takes place between Non-sister

chromatids of homologous chromosomes at Pachytene
stage of prophase | of the cell cycle

(3) [NCERT-I-159, 160]
the respiratory electron transport system (ETS) located
in Inner mitochondrial membrane of cell in plants

(3) [NCERT-I-145 to 147]

In Hatch and Slack pathway, the primary CO, acceptor
is Phosphoenol pyruvate




131.

132

133.

134.

135.

136.

137.

138.

139.

140.

141.

@ [NCERT-I-134, 135]
TGilclddey & ol & U S h FolSIBINT Bl

Faftfa evar g 3R Gad= o1 YaIfda &xdr 8 | Uh
S & 9reuq W UBT BT dCaRl Bl 8 | Ig o@dl
2 b SlaTy] g1 w5 @ el 3iR el Uahrer &
H ST BT B

3) [NCERT--176]

T~ BT B bl USTIR BT 9g1+ & hH H, TNl
urey gfg e @1 foeda fdhar S ©

1) [NCERT-II-13]

TRITT el =T # gfed giar @

(1) IR ST & IRT 7 3ra<ell # Urr STl @
@ [NCERT-II-15]

T — SFT TR 3R AT GRITT G-
HRSIGIE

1) [NCERT-II-224]

R — e Te aqy 3 3R STal A Uh a9
W1 Gl & | S {6 ®al 3R 81 url Sl 2
@) [NCERT-II1-201, 202]
RGN — ATET & 3fR IR SATfey

3) [NCERT-I-143]

hIhT TobhlclUs 37A] Phidh- U aIdl ©

(3) SIS BIbT

3) [NCERT-I-157, 158]
SISRAT B TRE AISHIST TN fhd o1 &

(3) WAIANECIRAT 3R IgSlfaTH

@ [NCERT-I-165to 167]

TURIR[FAINS — b UrollgH DNA 9 JaelidIcigsd
P B Bl

URT HYar 2 |
) [NCERT-II-180]

RNAi H, ST @ ITgei=d dsRNA &1 STIRT &P
foar Sram 21

@2
A. CIDIIRT i,

[NCERT-II-35 to 38]
TREIRIE BT I8
IR TUSIHEIIH

| el ©
YT BT FHG
IGCINE]
DIRTHIS BT TG
S yor & wU |
faufea grar @
USSR H

SIRCININE BT &1

B. fdgo™ iV,

C. I=RPINRH T8 i

D. 3[R0y i

131.

132

133.

134.

135.

136.

137.

138.

139.

140.

141.

@ [NCERT-I-134, 135]

One scientist cultured Cladophora in a suspension of
Azotobacter and illuminated the culture by splitting light
through a prism. He observed that bacteria accumulated
mainly in the region of Blue and red light

3) [NCERT--176]

In order to increase the yield of sugarcane crop,
Gibberellins plant growth regulators should be sprayed

(1) [NCERT-II-13]
The type of pollination takes place in Vallisneria

(1) Pollination occurs in submerged condition by water.

(2) [NCERT-II-15]
Papaya — both autogamy and geitonogamy are
prevented

(1) [NCERT-II-224]

Endemic —Western Ghats have a large number of plant
and animal species that are not found anywhere else.

4) [NCERTH-II-201, 202]
Mutualism — Female wasp and fig species

(3) [NCERT-II-143]
Coca alkaloid or cocaine is obtained from

(3) Erythroxylum coca

(3) [NCERT-II-157, 158]

the following pairs of microbes, which pair has both the
microbes that can be used as biofertilizers

(3) Cyanobacteria and Rhizobium
(2) [NCERT-II-165 to 167]

An enzyme catalysing the removal of nucleotides from

DNAis Endonuclease

(1) [NCERT-II-180]

In RNAI, the genes are silenced using dsRNA

(2) [NCERT-II-35 to 38]

A. Trophoblast iii. Outerlayer of
blastocyst attached
to the endometrium

B. Cleavage iv. Mitotic division of

zygote

C. Innercellmass ii. Group of cells that

would differentiate

as embryo

Embedding of

blastocyst in the

D. Implantation i.

endometrium




142,

143.

144,

145,
146.

147.

148.

149.

150.

151.
152.

©) [NCERTAI-170, 171]

SATIE wuT<Rel ¥4 fae 3’ fafe &1 98 B |

(3) SIATIdrg HIRHT A 3 &ffores fox & Aresm |
DNA &7 T80T

A3) [NCERT-II-165, 166]

TC3MHIET DIl Udh Ui YUSIRFa ISl BT Ald

SRR

)

AP Bl B

(3) URUMT BT Facll g BIUD] BT LI

@) [NCERT-II-191]

@ [NCERT-I-225]

T (i) s9—faer 8= , (i) HRNOISTAe (i) Sdd

HaeE & fog 99 7

3) [NCERTHI-222, 223]

(1) Ui R < @ Ua faqeh ofa &

(2) 3MBIHT Hefhy e de By & foy @
BT 7 |

(3) TIeR W1 T TS faged o] &

@) i E AR wU | MOR 9N ® A 9

ST ST &

@) [NCERTA-20, 21]

A. TMV — RNA SshTHd BIdT &

B. JFIRATBST — DNA GhTdd Bidl &

C. dEISS — RNA HHMd BT ©

D. dlg®T — &I YR & oild AT &
(1) [NCERT-I-71t0 77]

[NCERT-II-182, 183]

A. TEHA iii. AR o=

B. 3mad @® PIRTGR v, @rell FTEIF HIfRTeR
C. = i. ER BIRGRI

D. drggar i. Udbel IR

3) [Old-NCERT-I]

PIATDIZHT — 39 Hdd Bl DIRIGR Sifdd 3R
oY fearR &1 Aers yeiRid ol 21 3 IifIh
TERT ¥ UST e 2 |

3)

3)

PP B o7 TS B &
(1) UAH I[USTIR H I[USHIIBT B HEAT (TS B
=

(2) ofTdt P 3raRer AT dEar 2|

(3) T[T I HIGT H IguRRerd 7
(4) I8 gRPIIT®H eI 2

[Old-NCERTH]
[Old-NCERTH]

142,

143.

144,

145,
146.

147.

148.

149.

150.

151.
152.

(3) [NCERT-II-170, 171]

Significance of 'heat shock' method in bacterial
transformation is to facilitate

(3) Uptake of DNA through transient pores in the
bacterial cell wall

3) [NCERT-II-165, 166]

Entamoeba coli is not a source of restriction
endonuclease

3) [NCERT-II-182, 183]

Pathophysiology is the Study of altered physiology of
host

() [NCERT-II-191]
2 [NCERT-1I-225]

The common to the techniques (i) in vitro fertilisation,
(if) Cryopreservation and (iii) Tissue culture

(2) All are Ex-situ conservation methods
(3) [NCERTHII-222, 223]
(1) Parthenium is an exotic species of our country

(2) African cat fish is a threat to indigenous
cat fishes

Steller's sea cow is an extinct animal

Parthenium is popularly known as carrot grass
[NCERT-I-20, 21]

A. TMV-RNA s infectious

B. Bacteriophage — DNAis infectious

C. Viroids — RNA is infectious

D. Lichen—Two types of organism involved

(1) [NCERT-I-71to 77]
A. Cuticle iii. Waxy layer

B. Bulliform cells iv. Empty colourless cell
C. Stomata i. Guardcells

D. Epidermis ii. Single layer

(3) [Old-NCERTH-]

Cells of this tissue are living and show angular wall
thickening. They also provide mechanical suport. The
tissue is Collenchyma

@) [Old-NCERT-]
@) [Old-NCERT-]

The statements is true for cockroach

(1) The number of ovarioles in each ovary are eight
(2) Thelarval stage is called Nymph

(3) Anal styles are absent in females

(

4) Theyare uricotelic




153.

154,

155.

156.

157.

158.

159.

7)) [OId-NCERTH]
A. BAMRR iv. 8T SAAsd

D AT
B. MR iii. Wger AferdT &1 fog
C. WHTIBR ii.  YERTIRIT &7 BT
D. 3yvs Hferdhr i. faefad 8 ) sl

@ [NCERT--121,122]
G, WA & 4wy # HET PAT 8T AT DY

(1) PIRGT SUTTR T I Afhy 8 2 |

(2) DNA SIf¥rer # yfdafaa i &ear 2

(3) UT TESAV[R & HIAYY B Uh YTawRll ©

4) PIRTHT gfg TR BT Sravem # Bl 8

3) [NCERT--137]

400 — 700 = TRIRED (in nm) BT SN YhTeTaverd
fopareier fafexor (PAR) dEacl ©

(1) [NCERT--175t0 178]

A. 24D iv. TRUTAR 2T O BT
e

B. ABA iii. 7T BT g B

C. SR V. Woll BT YT

D. GA ii.  drfecT

E. WTscragd i. 2R T DNA

@

(1) XM (Renin)—ad # YfraC=AHON @
TSR & 9EaTd Bl e 2 |

(2) TeSRERMA— TTdl YARTGRINTT & JATA Gl &

(3) ADH — HIfSTH YRTGRINTT Pl FIal 3

(4) ANF — a1 JRIR® RAT &

(3) [NCERT-I-213, 214]

SIATSRIT B8 (F3H gad) Th g8 GdT § S
o T oAl & §HH 81T © | IRAT BISaR I8
T
(1)

fasm f3reell ® IIR—UR favwa Fomc® 2| I8 Na*
IRK* IR & 3R FqF] faaRoT & R BIell ©

[NCERT--212]

[NCERT-1-232, 233]

153.

154,

155.

156.

157.

158.

159.

@

A. Phallomere iv.

[Old-NCERTH]
The external genitalia

B. Gonopore iii. Opening of the

ejaculatory duct
C. Spermatophore ii. Bundles of sperm
D. Ovarioles i.

@

the correct statement about G, phase

Chain of developing ova

[NCERT--121,122]

(1) Cellis metabolically active
(2) DNaiin the cell does not replicate

(3) ltis a phase of synthesis of macromolecules
(4) Cellin growing stage
()]

400 — 700 = The range of wavelength (in nm) is called

[NCERT--137]

photosynthetically active radiation (PAR)

(1) [NCERT-I-175t0 178]

A. 24D iv. Weed - freelawns

B. ABA iii. Stomata closure

C. Ethylene V.  Ripening of fruits

D. GA ii. Bolting

E. Cytokinins i. Herringsperm DNA

() [NCERT--212]

(1) Renin—prevents conversion of angiotensinogen in
blood to angiotensin

(2) Aldosterone — Facilitates water reabsorption

(3) ADHANF — enhances sodium reabsorption

(4) ANF — causes vasodilation

(3) [NCERT--213, 214]

Dialysing unit (artifical kidney) contains a fluid which is

almost same as plasma except that it has No urea

M

Potential difference across resting membrane is

[NCERT-1-232, 233]

negative. This is due to differential distribution of Na*
and K*




160. (1) [NCERTA-232 to 235)

(A) fasma fava iii. fasma af=aer fereel
P IR—UR fageia
faa &1 IR

(B) AfTapT ST iv. ST & foly Udh
af®r &1 fagd
T ST gfafshar

(C) Argfed TRR i. eRIfed 3R v
Afted afrar
@ 99

(D) afraT Hamy i, AT U M B
RERUEINIER]
ESIRE]

161. (1) [NCERT-11-120, 121]
162. (2) [NCERT-I-111 to 119]
A. SIfas iv. WTRId o9 &

gRT faama
B. 3mMuRA i, 3rotrard Sfarcafed
C. o ® ii. 3T BT SUANT 3MR
STTUANT
D. B I iii. SR g
163. (1) [NCERT-1-47, 48]
R T GRS & ol FE1 U &
a. Piffsdelis § TR TR § Suferd ©
b. MR § TR =ik IdEd df Hafa
BT 2 |
c. BT T H&Y BT B |
d. YRS &) 9o 9 HAoferdl dEd © |
164. (1) [NCERT-I-61 to 65] [NMC Syllabus]
oAl & foy |1 HUA §
a. I8 TRNHT Bffell & 9 §
b. EIGITUSEA 3USIIY & YR TN BT & 3N T4
BIc b dIovS BT B |
c. UP Dbl I UAd S IR UhT<R wY H AT
B B
d. STENadl TSI
165. (2) [NCERT--8]
AR Brger / fdrer
A. EERY Prscl
B. s=idcl AT
C. SISdIIfere Uiyt
D. HMIpIfore  ufaoramef

160.

161.
162.

163.

164.

165.

M

(A) Resting potential iii.

(B) Nerveimpulse iv.

(C) Synaptic cleft ii.

(D) Neurotransmitters i

M
@
A.

B.
C.

D.
M

[NCERT-I-232 to 235]
Electrical potential
difference across the

resting neural
membrane

An electrical wave like
response of a neuron
to a stimulation

Gap between the pre
synaptic and post
synaptic neurons
Chemicals involved in
the transmission of
impulses at synapses
[NCERT-II-120, 121]
[NCERT-II-111 to 119]

Darwin iv. Evolution by natural
selection

Oparin i. Abiogenesis

Lamarck ii. Useand disuse of
organs

Hugo devries iii. Mutation theory

[NCERT--47, 48]

The correct statement for supar class pisces

a.
b.
c.
d.

M

In chondrichthyes claspers are present in male

Air bladder regulates buoyancy in osteichtyes

Heartis two chambered

Members of pisces are called true fish
[NCERT-I-61 to 65] [NMC Syllabus]

The correct statement for sunflower

a.
b.

@

o w>

It is the member of asteraceae family

The placenta develops at the base of ovary and a
single ovule is attached to it

Asingle leaf arise at each node in alternate manner

Ovary inferior

[NCERT-I-8]
Class Phylum/Division
Mammalia Chordata
Insecta Arthropoda
Dicotyledonae  Angiospermae

Monocotyledonae Angiospermae




166.

167.

168.

169.

170.

171.

) [NCERT--106, 107]

I 3T REE

A. TeITgiH EESIER]

B. T+ S fRearge 98

C. W EENERIERIER IS

@ [NCERT-II-73, 74]
quriErdr @ fofy |l STwudT &

(1) XCY — quii=y 3reH

(2) XX —qTEd HAfZel

(3) XCXC —quri=er Hfgerm

(4) XY — = 3T

) [NCERT-II-73 to 76]
A. RRAIferT - fofiT & ST

B. Jeriifar — agdfe e

C. REa wISaIR - Avseliad fAaR

D. TR RirsM - oREFN fadR

@

[NCERTHI-55]
HISH & YANT & oIy WET AUl &
PEICH] YT
A. 3T e
B. W gRIGR
C. oI Clgil
D. Wall &l &1 Bl BT Yrell T

(1) [NCERT-I-221, 222]
Ui Aaad &) fhanfae @ dwed o |8 woe 2 |

A. 3HD! YRR AICR AFSDBT PIRIBT &b SIRT CNS
ERT Hbd Ao O 9 8l &

B. df*T WaR) AThicidr § fohar fawa U1 oxar
=

C. Ca" &R & 93Iall A Yfde =g W S+ &
JU $hTs I Do ¢ g7 © |

D. tufded & foru afsha era &1 9 Sh-1 fohameiia
RSN

E. ATP fASiellaRor & Sofl &l SUARTT B hid
Ag BT Ffor
) [NCERT-II-205, 206]
qRa—= & A # I BT Terd 2 |

(1) I BIC AHR & AT H IR IS MHR B TR
T B FhaTl 2

2) I8 Safed # dHa foharheral & off 81 At
(3) IT IR AT RN B Ahal B

@) $HH ol Ydre P Hrd A B R dua
dcdl &7 geraspor A e B |

166.

167.

168.

169.

170.

171.

M

Amino acid

[NCERT-I-106, 107]
R group
A. Glycine Hydrogen
B. Alanine A methyl group
C. Serine Hydroxymethyl group
(2) [NCERTH-II-73, 74]
The correct match for colourblind
(1)
)
(©)
(4)
4) [NCERT-II-73 to 76]
A. Haemophilia— Sex linked recessive

XCY — colourblind man
XCEX —carrier woman
XCEXC — colourblind women

XY —normal man

B. Thalassemia— Genetic disorder
C. Cysticfibrosis — Mendelian disorder

D. Turner syndrome — Chromosomal disorder

(2) [NCERTH-II-55]
The correct match for mendel experiment
Dominant Recessive
A. Axial Terminal
B. Round Wrinkled
C. Tal Dwarf
D. Green colour of pod Yellow colour of pod
(1) [NCERT-I-221, 222]

The correct statements regarding mechanism of
muscle contraction :

A. ltis initiated by a signal sent by CNS via motor
neuron.

B. Neurotransmitter generates action potential in the
sarcolemma.

C. Increased Ca* level leads to the binding of calcium
with troponin on actin filaments.

D. Unmasking of active site for actin is activated.

E. Ultilising the energy from ATP hydrolysis to form
cross bridge.

(4 [NCERT-II-205, 206]
The correct statement about ecosystem? :

(1)

It can vary from small sized pond to large sized
sea

@)
(3)
@)

It may be anthropogenic in origin
It may be temporary or Permanent

It involves the function of flow of energy and
recycling of nutrients also




172.

173.

174,

175.

176.

() [NCERT-I-210]

A. JARIE SUHTEI Il ¥R
B. fgdue Sudraem . afsar
C. UrRIfA®G SuHIadr IV. 9H0
D. URIfA® IdGH . =g
@ [NCERT-I-156 to 159]
(1) SrEeTggradT - T IR
THEHhHE
(2) RIFRID 37 - TASHITARTE
(3) OAA - BT dh
(4) 3-PRPIFTARS - Hed IH
3t
@) [NCERT-II-134, 135]
(1) IRIRS T - TEET UY Pl RN
EaSREISIRNED IR
BT TTSHT ATl
(2) PriiSR e - PgH @R
(3) PRI e S CARSIFTAS
(4) DIRTHT e - Hdd H HpImS
) [NCERT-1I-90, 91]
ufefcad & g |81 Ferd ©

(1) ufdpfcre # fodl ff aRE &1 el & aRerH
¥IwY SRad- gidr 2 |

(2) DNA TR %R DNA UlclFRSl qgad ®l dHae
TEH Qe 5 3 B IR IART FHRaT ®

(3) DNA @1 Ul d SIfRrenT favToT =ish B!
aTfadT ST | Bl ®

@)

DY -1:

arel & fofg ugel &l T el § wdd el ddel

JMHIRDT 0l BT IYANT fobar T S & ufeaat

DI Y, T, TAT 3R 3Tapfr

DY -1l :

UTehfeie efTepRoT =1 Sitdl H UTepfcie Ha= ol

qr8g IO & A1 — A1 AN IO, S IRTAREHT,

TATCHI, YOS iR Urey AT & R UR IR

T3 T |

[NCERTA-23, 24]

172.

173.

174,

175.

176.

() [NCERT-II-210]
A. Tertiary consumer II. Lion

B. Secondary consumer . Wolf

C. Primary consumer IV. Goat

D. Primaryproducer I. Grass

(2) [NCERT-I-156 to 159]
(1) Dihydroxyacetone - Glycolysis
Phosphate
(2) FumaricAcid - Krebs cycle
(3) OAA - Krebs cycle
(4) 3-Phosphoglyceric - Glycolysis

Acid
(4)
(1) Physical barrier

[NCERT-II-134, 135]

Mucus coating of the
epithelium lining
Respiratory tract

Saliva in the mouth

(2) Physiological
barrier

(3) Cellular barrier - Leukocytes

(4) Cellular barrier -

(@)

The correct statements for Replication:

Macrophage in tissues

[NCERT-1I-90, 91]

(1) Any mistake during replication would result into
mutations.

(2) The DNA dependent DNA polymerases catalyse
polymerisation only in one direction, thatis 5’ — 3’

(3) The replication of DNA and cell division cycle should
be highly co-ordinated.

4)

Statement |I:

[NCERTA-23, 24]

For plants the earliest systems of classification used
only gross superficial morphological characters such
as habit, colour number and shape of leaves etc.

Statement Il :

Natural classification systems were based on natural
affinities among the organisms and consider, not only
external features, but also internal features, like
ultrastructure,

anatomy, embryology and

phytochemistry.




177.

178.

179.

180.

@ [NCERT-I-28 to 33]
DY -1:

T H 7R 3IR AGT THICIbISe &7 W=l Jaa—oiar
R BT 7 |

DY -1l :

UTg H R 3R AIGT ICIBIgT BT W~ qad Sidl
IR &l BT 7 |

@ [NCERT-I-65t0 67]

DY -1:

Bl e & 918 U URYFd 31efaT UehT GaIT AV
Il 2 |

DY -1l :

GER B 4 Bl Igahai, AeIhaivwl
3R A H ¥ wU 9 faufed g 2

) [NCERT-I-79 to 80]
DY -1:

Ol 3fraT geTolial & AvaH H, JAMBINDI 2] Bl
R FIeTd Siidl Bl dgd AR AT a8y faw arel
3MBHR BT ATIT ¥ |

DY -1l :

T3l # UATCHT WeE BT SUANT URFRS wU 4
AR I B IMHINDT BT FETIT 2 |

() [Old-NCERT-]]

DY -1:

DR IUBAT § HIRIGR FE=aT H Ud BT g3 A
RPN Aoy & a1 el 2 |

DY -1l :

R UfRr Ifeard) uf=r ©, I8 gMIF A1fdd Ael deal
=

177. (4)

178. (2)

179. (4)

180. (2)

[NCERT-I-28 to 33]
Statement |I:

In Sphaghum male and female gametophyte are
independent free living existence.

Statement Il :

In Pinus male and female gametophyte are not
independent free living existence.

[NCERT-I-65t0 67]
Statement |I:

Fruits is a mature or ripened ovary developed after
fertilisation.

Statement Il :

In fleshy types of fruit pericarp is clearly differentiated
into epicarp, mesocarp and endocarp.

[NCERT-I-79 to 80]
Statement |I:

In case of plants or microbes the term morphology
precisely means only the study of form or externally
visible features.

Statement Il :

The word anatomy conventionally is used for the study
of morphology of internal organs in the animals.

[Old-NCERTH]
Statement |I:

In cuboidal epithelium the cells are compactly packed
with little intercellular matrix.

Statement Il :

The salivary gland is exocrine gland so it is not secrete
hormone.




	Sample Paper - 5 - Question.pdf (p.1-44)
	Sample Paper - 5 - Solution.pdf (p.45-66)

